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embo¶ {ejU d H«$sS>m {d^mJmVrb H«$sS>m d ¶wdH$ godm g§MmbZmb¶

VmbwH$m H«$sS>m A{YH$mar narjm nXo : 16 +15 = 31

* gXa coIr narjm 200 JwUm§Mr AgVo.
* àíZg§»¶m - 100 d JwUg§»¶m - 200

1) MmiUr narjm àíZn{ÌH$m (100 àíZ, 200 JwU)
1) amÁ¶, amï´>r¶ d Am§Vaamï´>r¶ ‘hÎdmÀ¶m Mmby KS>m‘moS>r
2) ^maVr¶ ñdmV§Í¶ bT>m d AmYw{ZH$ ^maVmMm B{Vhmg ‘hmamï´>mgh
3) ^maV d ‘hmamï´> - amÁ¶emó d àemgZ, g§{dYmZ, amOH$s¶ àUmbr, n§Mm¶V amO, ‘m{hVr A{YH$ma H$m¶Xm
4) ^maVr¶ AW©ì¶dñWm d Imbrb ~m~rer {ZJS>rV ‘wÔo -

1) {Z¶moOZ
2) g§gmYZm§Mo EH$ÌrH$aU
3) d¥Õr d {dH$mg
4) amoOJma
5) gd©g‘mdoeH$ dmT> d Ë¶mnmgyZ {Z‘m©U hmoUmao àíZ

5) gm‘mÝ¶ {dkmZ d V§ÌkmZ
6) ‘hmamï´>, ^maV d OJmMm ŷJmob ‘hmamï´>mÀ¶m ^mam§emgh
7) H«$sS>m - Am§Vaamḯ>ry¶ ‘hÎdmÀ¶m H«$sS>m ñnYm©, IoimSy>§Zr {d{dY ñnYm©‘Ü¶o Zm|X{dbobo {dH«$‘, Zm‘d§V IoimSy>§Mr AmË‘M[aÌo,

H|$Ð d amÁ¶emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm, H|$Ð d amÁ¶emgZmMo H«$sS>m{df¶H$ nwañH$ma, H«$sS>m{df¶H$ {Z¶‘, H«$sS>m
ñnYm©§‘Yrb {d{dìY ~m~r d CX^dUmar n[apñWVr

8) ~w{Õ‘Îmm MmMUr -
A§H$J{UV, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, gamgar, Xem§e AnyUmªH$ d ~wX²Ü¶m§H$ _mnZ
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VmbwH$m H«$sS>m A{YH$mar narjm : 100 ‘hÎdmMo ‘wÔo
Aä¶mgH«$‘mV Z‘yX KQ>H$ d Ë¶mda {dMmaë¶m OmUmè¶m àíZm§Mr g§»¶m * -

1) amÁ¶, amï´>r¶ d Am§Vaamï´>r¶ ‘hÎdmÀ¶m Mmby KS>m‘moS>r - 10
2) ^maVr¶ ñdmV§Í¶ bT>m d AmYw{ZH$ ^maVmMm B{Vhmg ‘hmamï´>mgh -10
3) ^maV d ‘hmamï´> - amÁ¶emó d àemgZ, g§{dYmZ, amOH$s¶ àUmbr, n§Mm¶V amO, ‘m{hVr A{YH$ma H$m¶Xm -10
4) ^maVr¶ AW©ì¶dñWm d {d{dY ~m~rer {ZJS>rV ‘wÔo ({Z¶moOZ, g§gmYZm§Mo EH$ÌrH$aU, d¥Õr d {dH$mg, amoOJma,gd©g‘mdoeH$

dmT> d Ë¶mnmgyZ {Z‘m©U hmoUmao àíZ) - 10
5) gm‘mÝ¶ {dkmZ d V§ÌkmZ - 10
6) ‘hmamï´>, ^maV d OJmMm ŷJmob ‘hmamï´>mÀ¶m ^mam§emgh - 10
7) H«$sS>m - Am§Vaamḯ>ry¶ ‘hÎdmÀ¶m H«$sS>m ñnYm©, IoimSy>§Zr {d{dY ñnYm©‘Ü¶o Zm|X{dbobo {dH«$‘, Zm‘d§V IoimSy>§Mr AmË‘M[aÌo,

H|$Ð d amÁ¶emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm, H|$Ð d amÁ¶emgZmMo H«$sS>m{df¶H$ nwañH$ma, H«$sS>m{df¶H$ {Z¶‘, H«$sS>m
ñnYm©§‘Yrb {d{dY ~m~r d CX^dUmar n[apñWVr - 30

8) ~w{Õ‘Îmm MmMUr - A§H$J{UV, ~oarO, dOm~mH$s, JwUmH$ma, ̂ mJmH$ma, gamgar, Xem§e AnyUmªH$ d ~wX²Ü¶m§H$ _mnZ - 10

* gXa g§»¶m hr ‘hmamï´> cmoH$godm Am¶moJmÀ¶m ‘mJrb d gÚ g‘H$j narjm ¶mda AmYm[aV d A§Xm{OV AgyZ narjoV
Ë¶mV ~Xb Ano{jV Amho.

(1) amÁ¶, amḯ>r¶ d Am§Vaamḯ>r¶ ‘hÎdmÀ¶m Mmby KS>m‘moS>r
1) OmJ{VH$ amOH$s¶ KQ>Zm - g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm, OmJ{VH$

ñVamdarb Am{W©H$ KS>m‘moS>r
2) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo
3) Am{W©H$ d {dÎmr¶ KQ>Zm AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, H¥$fr d J«m‘rU {dH$mg, Xm[aÚ« d ~oH$mar, {dXoe

ì¶mnma,
4) d¡km{ZH$ KQ>Zm - D$Om© V§ÌkmZ d AmpÊdH$ àH$ën, Amm¶grQ>r, AdH$me{dkmZ, d¡km{ZH$ g§ñWm d g§emoYH,

O¡dV§ÌkmZ, amoJ{dkmZ $
5) gm‘m{OH$ d e¡j{UH$ KQ>Zm - gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma

{Z{‘©Vr d H$m¡eë¶ {dH$mg
6) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ŷJmob, n¶m©daU n[afXm, g§dY©Z, H$m¶Xo,

AmnÎmrì¶dñWmnZ
7) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
8) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ
9) gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$, gm{hpË¶H$ KQ>Zm
10) gm‘mÝ¶kmZ - ‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘
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(2) ^maVr¶ ñdmV§Í¶ bT>m d AmYw{ZH$ ^maVmMm B{Vhmg ‘hmamḯ>mgh
11) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
12) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
13) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
14) gm‘m{OH$ Ym{‘©H$ gwYmaUm, {ejU Am{U àog
15) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
16) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
17) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
18) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd, ñdmV§Í¶ Midir - ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
19) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm, H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
20) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m, g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV

(3) ^maV d ‘hmamḯ> - amOH$s¶ ì¶dñWm
1) g§{dYmZ
2) amOH$s¶ àUmbr
3) amÁ¶emó d àemgZ
4) n§Mm¶V amO
5) ‘m{hVr A{YH$ma H$m¶Xm

* g§{dYmZ -
21) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho, àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
22) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r, KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io

* amOH$s¶ àUmbr -
23) H|$Ð-amÁ` g§~§Y, Ý`m`nm{bH$m
24) g§gX, amÁ¶ {dYr‘§S>i, amOH$s¶ nj d {ZdS>UwH$m

* amÁ¶emó d àemgZ -
25) H|$Ðr¶ àemgH$s¶ ¶§ÌUm - H$m ©̀H$mar, {d{Y‘§S>i
26) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i

* n§Mm¶V amO -
27) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr, {Oëhm àemgZ
28) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg

* ‘m{hVr A{YH$ma H$m¶Xm -
29) ‘m{hVr A{YH$ma H$m¶Xm - CËH$m§Vr, CÔoe, ‘hËdmMr H$b‘o, XþéñË¶m d n[a{eï>o
30) ‘m{hVr A{YH$ma H$m¶Xm - A§‘b~OmdUr ¶§ÌUm, amÁ¶ d H|$Ðr¶ ‘m{hVr Am¶moJ, Am¶wº$, A{YH$mar, Anrb
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(4) ^maVr¶ AW©ì¶dñWm d ‘hÎdmÀ¶m ~m~r
* ^maVr¶ AW©ì¶dñWm d Imbrb ~m~rer {ZJS>rV ‘wÔo -

1) {Z¶moOZ
2) g§gmYZm§Mo EH$ÌrH$aU
3) d¥Õr d {dH$mg
4) amoOJma
5) gd©g‘mdoeH$ dmT> d Ë¶mnmgyZ {Z‘m©U hmoUmao àíZ

* {Z¶moOZ
31) {Z¶moOZ ¶§ÌUm, ZrVr Am¶moJ, {Oëhm {Z¶moOZ g{‘Vr
32) amï´>r` CËnÞ - OrìhrE, OrS>rnr, AW©g§H$ën, gmd©O{ZH$ IM©, Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb

* g§gmYZm§Mo EH$ÌrH$aU
33) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
34) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ, {dXoer ì`mnma, ~±qH$J

* d¥Õr d {dH$mg
35) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
36) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V

* amoOJma
37) amoOJma {Z{‘©Vr H$m ©̀H«$‘, ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
38) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘

* gd©g‘mdoeH$ dmT> d Ë¶mnmgyZ {Z‘m©U hmoUmao àíZ
39) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm
40) {ejU, Amamo½`, gm‘m{OH$ gwajm joÌmVrb dmT> - {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>

(5) gm‘mÝ¶ {dkmZ d V§ÌkmZ
1) ^m¡{VH$emó ({’${O³g)
2) agm¶Zemó (Ho${‘ñQ́>r)
3) àm{Uemó (Pycm°Or)
4) dZñn{Vemó (~m°Q>Zr)
5) Amamo½¶emó (hm¶OrZ)

* ̂ m¡{VH$emó ({’${O³g)
41) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
42) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ
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* agm¶Zemó (Ho${‘ñQ́>r)
43) AmdV© gmaUr - YmVy Am{U AYmVy, amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
44) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo

* àm{Uemó (Pycm°Or)
45) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
46) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

* dZñn{Vemó (~m°Q>Zr)
47) dZñnVtMo dJuH$aU Am{U CXmhaUo, H¥$fr{dkmZ d dZemó
48) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

* Amamo½¶emó (hm¶OrZ)
49) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW,
50) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘, AÞ Am{U nmofU

(6) ‘hmamḯ>, ^maV d OJmMm ŷJmob ‘hmamḯ>mÀ¶m ^mam§emgh
51) gỳ ©‘mbm Am{U n¥Ïdr - Ajm§e Am{U aoIm§e, ŷH§$n Am{U Ádmbm‘wIr, IS>H$
52) OmJ{VH$ {d^mJ - ^m¡Jmo{bH$ d¡{eï²> ò, hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
53) OJmMm gm‘m{OH$ ŷJmob - bmoH$g§»`m, ^mfm, d§e, ^m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m
54) OJmMm Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZo Am{U n`m©daU, H¥$fr
55) ^maVmMm ^m¡{VH$ ŷJmob - ^maVr` CnI§S>mVrb CËH«$m§Vr, {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ, ~oQ>o,

^maVmVrb ZÚm Am{U àH$ën, hdm‘mZ d nO©Ý¶‘mZ
56) ^maVmMm gm‘m{OH$ d amOH$s` ̂ yJmob - bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m, ̂ m¡Jmo{bH$ amOH$maU
57) ^maVmMm Am{W©H$ ŷJmob - H¥$fr, dZñnVr, dZo, I{ZOo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
58) ‘hmamï´>mMm ^m¡{VH$ ŷJmob - gømÐr Am{U Ë`mÀ`m nd©Vam§Jm, ZÚm Am{U YaUo, IS>H$, ‘mVr, nrHo$, dZo d dZñnVr
59) ‘hmamï´>mMm gm‘m{OH$ d amOH$s` ̂ yJmob - bmoH$g§»`m, ñWbm§Va, dñË`m Am{U O‘mVr, {Oëøm§Mr {Z{‘©Vr d gr‘maofm
60) ‘hmamï´>mMm Am{W©H$ ̂ yJmob - H¥$fr, dZñnVr, I{ZOo Am{U D$Om© g§gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma

(7) H«$sS>m joÌm{df¶H$ kmZ
1) ‘hÎdmÀ¶m H«$sS>m ñnYm©
2) IoimSy>§Zr {d{dY ñnYm©‘Ü¶o Zm|X{dbobo {dH«$‘
3) Zm‘d§V IoimSy>§Mr AmË‘M[aÌo
4) H|$Ð d amÁ¶emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm
5) H|$Ð d amÁ¶emgZmMo H«$sS>m{df¶H$ nwañH$ma
6) H«$sS>m{df¶H$ {Z¶‘
7) H«$sS>m ñnYm©§‘Yrb {d{dY ~m~r d CX^dUmar n[apñWVr
8) H«$sS>m {dkmZ
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* ‘hÎdmÀ¶m H«$sS>m ñnYm©
61) OmJ{VH$ H«$sS>m ñnYm© - Am¶moOZ ñWi, df©, ¶§ÌUm, d¡{eîQ>ço
62) amï´>r¶ H«$sS>m ñnYm© - Am¶moOZ ñWi, df©, ¶§ÌUm, d¡{eîQ>ço
63) àmXo{eH$ H«$sS>m ñnYm© - Am¶moOZ ñWi, df©, ¶§ÌUm, d¡{eîQ>ço
64) embo¶ d ‘hm{dÚmb¶rZ ñVamdarb$ H«$sS>m ñnYm© - {OëhmñVar¶, {dÚmnrR> d {d^mJ ñVamdarb, Aíd‘oY

* IoimSy>§Zr {d{dY ñnYm©‘Ü¶o Zm|X{dbobo {dH«$‘
65) OmJ{VH$ ñVamdarb {dH«$‘ - d¡¶{º$H$, gm§{KH$
66) amï´>r¶ d àmXo{eH$ ñVamdarb {dH«$‘ - d¡¶{º$H$, gm§{KH$
67) à{gÕ IoimSy> d Ë¶m§Mr H$m‘{Jar

* Zm‘d§V IoimSy>§Mr AmË‘M[aÌo
68) IoimSy>§Mr AmË‘M[aÌo d M[aÌo
69) IoimSy>§Mo ¶moJXmZ d ~hþ‘mZ
70) H«$sS>màH$ma Am{U à{gÕ IoimSy>

* H|$Ð d amÁ¶emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm
71) H|$Ð emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm - Q>m°ßg, gmB© nwañH¥$V à{ejU CnH«$‘
72) embo¶ d ‘hm{dÚmb¶rZ ñVamdarb ‘hmamîQ´> emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm

* H|$Ð d amÁ¶emgZmMo H«$sS>m{df¶H$ nwañH$ma
73) OmJ{VH$ ñVamdarb H«$sS>m{df¶H$ nwañH$ma
74) amï´>r¶ ñVamdarb H«$sS>m{df¶H$ nwañH$ma
75) ‘hmamï´> ñVamdarb H«$sS>m{df¶H$ nwañH$ma

* H«$sS>m{df¶H$ {Z¶‘
76) {d{dY Ioim§Mr {Z¶‘mdbr
77) H«$sS>m{df¶H$ gm‘J«r
78) H«$sS>mgm{hË¶
79) H«$rS>m§JU - àH$ma, d¡{eîQ>ço, ñQ>o{S>¶åg

* H«$sS>m ñnYm©§‘Yrb {d{dY ~m~r d CX^dUmar n[apñWVr
80) H«$sS>m ñnYm©§§§Mo Am¶moOZ - àH$ma, g§¶moOH$ d {Z¶§ÌU g{‘Ë¶m
81) H«$sS>m ñnYm©§§Mo CXKmQ>Z d g‘mamon - H«$‘, gh^mJr ì¶º$s
82) H«$sS>m ñnYm©§Mo ì¶dñWmnZ - gm_ZmnÌH$, n§M, {e{~ao
83) H«$sS>m ñnYm©§Xaå¶mZ CX^dUmar n[apñWVr
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* H«$sS>m {dkmZ
84) H«$sS>memó
85) emar[aH$ {ejU
86) AÜ¶mnZ, AÜ¶¶Z d ì¶º$s‘Îd{dH$mg
87) H«$rS>m à{ejU d _mJ©Xe©Z
88) H«$rS>m ì¶dñWmnZ
89) à{ejU g§ñWm d H«$sS>m {dÚmnrR>o
90) H«$rS>m _mZgemó

(8) ~w{Õ‘Îmm MmMUr
* ~w{Õ‘Îmm MmMUr - A§H$J{UV, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, gamgar, Xem§e AnyUmªH$ d ~wX²Ü¶m§H$ _mnZ

91) g§»¶m Am{U dU©‘m{bH$m, gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
92) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
93) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
94) ~¡R>H$ d ‘m§S>Ur ì`dñWm, ZmVog§~§Y
95) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
96) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
97) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$, gamgar, g§̂ mì`Vm, Q> o̧$dmar, JwUmoÎma Am{U à‘mU
98) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
99) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
100) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr, KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m
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‘hmamḯ> cmoH$godm Am¶moJ

embo¶ {ejU d H«$sS>m {d^mJmVrb H«$sS>m d ¶wdH$ godm g§MmbZmb¶

VmbwH$m H«$sS>m A{YH$mar MmiUr narjm Z‘wZm àíZnwpñVH$m

VmbwH$m H«$sS>m A{YH$mar narjm Aä¶mgH«$‘
* 2000 gmbÀ¶m VmcwH$m H«$rS>m A{YH$mar narjoV {dMmabo Jobobo àíZ (KQ>H${Zhm¶) -

1) amÁ¶, amï´>r¶ d Am§Vaamï´>r¶ ‘hÎdmÀ¶m Mmby KS>m‘moS>r - 2
2) ^maVr¶ ñdmV§Í¶ bT>m d AmYw{ZH$ ̂ maVmMm B{Vhmg ‘hmamï´>mgh - 10
3) ^maV d ‘hmamï´> - amÁ¶emó d àemgZ, g§{dYmZ, amOH$s¶ àUmbr, n§Mm¶V amO, ‘m{hVr A{YH$ma H$m¶Xm - 10
4) ^maVr¶ AW©ì¶dñWm d {d{dY ~m~rer {ZJS>rV ‘wÔo ({Z¶moOZ, g§gmYZm§Mo EH$ÌrH$aU, d¥Õr d {dH$mg, amoOJma,

gd©g‘mdoeH$ dmT> d Ë¶mnmgyZ {Z‘m©U hmoUmao àíZ) - 10
5) gm‘mÝ¶ {dkmZ d V§ÌkmZ - 10
6) ‘hmamï´>, ̂ maV d OJmMm ̂ yJmob ‘hmamï´>mÀ¶m ̂ mam§emgh - 10
7) H«$sS>m joÌ - Am§Vaamï´>r¶ ‘hÎdmÀ¶m H«$sS>m ñnYm©, IoimSy>§Zr {d{dY ñnYm©‘Ü¶o Zm|X{dbobo {dH«$‘, Zm‘d§V IoimSy>§Mr

AmË‘M[aÌo, H|$Ð d amÁ¶emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm, H|$Ð d amÁ¶emgZmMo H«$sS>m{df¶H$ nwañH$ma, H«$sS>m{df¶H$
{Z¶‘, H«$sS>m ñnYm©§‘Yrb {d{dìY ~m~r d CX^dUmar n[apñWVr - 30

8) ~w{Õ‘Îmm MmMUr - A§H$J{UV, ~oarO, dOm~mH$s, JwUmH$ma, ̂ mJmH$ma, gamgar, Xem§e AnyUmªH$ d ~wX²Ü¶m§H$ _mnZ - 10

(1) amÁ¶, amḯ>r¶ d Am§Vaamḯ>r¶ ‘hÎdmÀ¶m Mmby KS>m‘moS>r /3
1) OmJ{VH$ amOH$s¶ KQ>Zm
2) amḯ>r¶ amOH$s¶ KQ>Zm
3) Am{W©H$ d {dÎmr¶ KQ>Zm
4) d¡km{ZH$ KQ>Zm
5) gm‘m{OH$ d e¡j{UH$ KQ>Zm
6) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm
7) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
8) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ
9) gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm
10) gm‘mÝ¶kmZ
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 1) OmJ{VH$ amOH$s¶ KQ>Zm
1) Am§Vaamï´>r¶ gm¡a ¶wVr (ISA) ~Ôb Imbrbn¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV ?

A) lr. Ama. Ho$. qgh ¶m§Zr 18 Am°³Q>mo~a 2022 amoOr Am§Vaamï´>r¶ gm¡a ¶wVrÀ¶m Mm¡Ï¶m g§‘obZmMo CX²KmQ>Z Ho$bo.
B) CX²KmQ>Z g‘ma§̂ mg 30 Xoem§Mo ‘§Ìr Am{U 120 gXñ¶ d ñdmjarH$Ë¶m© XoemVrb, VgoM {Z¶mo{OV/g§̂ m{dV gXñ¶

Xoem§Vrb 18 à{V{ZYr CnpñWV hmoVo.
C) gm¡a joÌmV 2030 n¶ªV 1 {Q>{b¶Z S>m°baMr Jw§VdUyH$ H$aUo Am{U V§ÌkmZmMr qH$‘V d {dÎmnwadR>m H$‘r H$aUo ho

ISA Mo C{Ôï> Amho.
D)6 {S>g|~a 2017 amoOr 15 Xoem§Zr ISA g§aMZm H$amamda (’«o$‘dH©$ AJ«r‘|Q>) ñdmjar H$ê$Z ‘mÝ¶Vm {Xë¶mZo, ISA

hr ^maVmV ‘wI¶mb¶ Agbobr n{hbr Am§Vaamï´>r¶-Am§VaemgH$s¶ g§ñWm ~Zbr.
n¶m©¶r CÎmao …
1) A Am{U B 2) B Am{U C 3) Ho$di C Am{U D 4) A, C Am{U D

1) Which of the following are correct about the International Solar Alliance (ISA)?

A)Shri RK Singh inaugurated the 4th Assembly of the International Solar Alliance on 18 October

2022.

B)Ministers from 30 countries and delegates from across 120 Member and Signatory countries

and 18 prospective countries were present at the inaugural ceremony.

C)ISA’s mission is to unlock US$1 trillion of investments in solar by 2030 while reducing the

cost of the technology and its financing.

D)With the signing and ratification of the ISA Framework Agreement by 15 countries on 6

December 2017, ISA became the first international intergovernmental organisation to be

headquartered in India.

Answer Options :

1) A and B 2) B and C 3) Only C and D 4) A, C and D

2) amḯ>r¶ amOH$s¶ KQ>Zm
2) ^maVr` ‘w§~B© ehamVrb aoëdo ñQ>oeZ, XmoZ hm°Q>oëg BË`mXtda XheVdmXr h„m  ............. ‘{hÝ`mV Pmbm.

1) {S>g|~a 2008 2) Zmoìh|~a 2009 3) Zmoìh|~a 2008 4) Am°ŠQ>mo~a 2007
2) Terrorist attack on the Indian city of Mumbai where a train station, two hotels etc were attacked

happened in the month of _____________

1) December 2008 2) November 2009

3) November 2008 4) October 2007

3) Am{W©H$ d {dÎmr¶ KQ>Zm
3) 2015 ‘Ü ò g§̀ wº$ amï´>m§Zr bmoH$, J«h Am{U g‘¥ÕrgmR>r {H$Vr eml²dV {dH$mg bú ò (SDGs) ñdrH$mabr AmhoV?

1) 15 2) 16 3) 17 4) 18
3) How many Sustainable Development Goals (SDGs) are adopted by United Nations in 2015 for

its agenda of action for people, planet and prosperity ?

1) 15 2) 16 3) 17 4) 18



VmbwH$m H«$sS>m A{YH$mar MmiUr narjm Z‘wZm àíZnwpñVH$m / 15

For Private Circulation Only

4) d¡km{ZH$ KQ>Zm
4) 7 ‘o 2020 amoOr Am§Y« àXoe òWo LG nm°{b‘a‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?

1) A‘mo{Z`m 2) ŠbmoarZ 3) ~«mo‘mBZ 4) ñQ>m`arZ
4) Which gas leaked from LG Polymers at Andhra Pradesh on 7 May 2020?

1) Ammonia 2) Chlorine 3) Bromine 4) Styrene

5) gm‘m{OH$ d e¡j{UH$ KQ>Zm
5) Imbrbn¡H$s H$moUË¶m g§ñWo‘Ü¶o {ga‘ BpÝñQ>Q>çyQ> Am°’$ B§{S>¶m Ûmao S>m°. gm¶ag nwZmdmbm g|Q> Am°’$ E³gbÝgr (CoE)

BZ BÝ’o$³eZ dm¶ag {S>{gOog A±S> n|S>°{‘H$ {ànoAaS>©Zog ñWmnZ H$aÊ¶mV Ambo ?
1) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ npãbH$ hoëW, Jm§YrZJa 2) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ npãbH$ hoëW, {X„r
3) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ npãbH$ hoëW, h¡Ðm~mX 4) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ npãbH$ hoëW, {gbm±J

5) In which of the following institutes will the Serum Institute of India set up the Dr. Cyrus Poonawalla

Centre of Excellence (CoE) in Infectious Diseases and Pandemic Preparedness?

1) Indian Institute of Public Health Gandhinagar

2) Indian Institute of Public Health Delhi

3) Indian Institute of Public Health Hyderabad

4) Indian Institute of Public Health Shillong

6) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm
6) ^maVmVrb H$moUË`m n{hë`m amÁ`mZo ŷOb ì`dñWmnZ Am{U aoZdm°Q>a hmd}pñQ>§J ñQ´ŠMg© A{Zdm ©̀ Ho$bo AmhoV?

1) ‘hmamï´> 2) Vob§JUm 3) Vm{‘iZmSy> 4) JwOamV
6) Which Indian first state has made ground water management and rainwater harvesting structures

mandatory ?

1) Maharashtra 2) Telangana 3) Tamil Nadu 4) Gujarat

7) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
7) Owb¡ 2022 ‘Ü¶o Imbrbn¡H$s H$moUmMr NITI Am¶moJmMo ‘w»¶ H$m¶©H$mar A{YH$mar CEO åhUyZ {Z¶wº$s Pmbr ?

1) na‘oída Aæ¶a 2) AaqdX dra‘Ur 3) A{^foH$ qgJ 4) eonm© A{‘Vm^ H$m§V
7) Who among the following became the CEO of NITI Aayog in July 2022?

1) Parameswaran Iyer 2) Arvind Virmani

3) Abhishek Singh 4) Sherpa Amitabh Kant

8) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ
8) amoJ à{VamoYH$ JìhmÀ`m 480 OmVr {dH${gV H$aUmè`m .......... H¥$frVkmZm 2014 Mm OmJ{VH$ AÞ nwañH$ma àXmZ

H$aÊ`mV Ambm hmoVm.
1) S>m°. g§O` amOmam‘ 2) S>m°. hm°dW© ~moB©g 3) S>m°. ‘m[a`m Am§ÐmS>o 4) ga ’$Pbo hgZ Am~oX

8) The 2014 World Food Prize was awarded to who developed 480 varieties of disease resistant

wheat.

1) Dr. Sanjay Rajaram 2) Dr. Howarth Bouis

3) Dr. Maria Andrade 4) Sir Fazle Hasan Abed



VmbwH$m H«$sS>m A{YH$mar MmiUr narjm Z‘wZm àíZnwpñVH$m / 16

For Private Circulation Only

9) gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm
9) H$bmH$mam§À¶m CËH¥$ï>VoMr Am{U g‘H$mbrZ H$bm ì¶dhmamVrb ¶moJXmZmMr XIb KoD$Z Am§Vaamï´>r¶ ñVamda Ë¶m§Mo H$m¶©

nwT>o ZoÊ¶mMm CÔoe AgUmè¶m à{V{ð>V nmobm°H$-H«$mgZa ’$mD§$S>oeZ Ý¶y¶m°H©$H$Sy>Z 2022 gmbMo d¡¶{º$H$ H$bm AZwXmZ
H$moUmbm {‘imbo Amho ?
1) Z¥Ë¶§JZm Am{U Z¥Ë¶{X½Xe©H$ g{dVm emó 2) {JQ>madmXH$ AmBU g§JrVH$ma ~¡Oy Y‘m©OZ
3) H$Wmbo{IH$m Ho$. Ama. ‘ram 4) {eënH$ma Am{U pìh{S>AmoJ«m’$a g~m hgZ

9) Who received the 2022 individual art grant from the prestigious Pollock-Krasner Foundation,

New York, which aims to advance the work of artists internationally in recognition of their

excellence and contribution to contemporary art practice?

1) Dancer and choreographer Savitha Sastry

2) Guitarist and music composer Baiju Dharmajan

3) Fiction Writer KR Meera

4) Sculptor and videographer Saba Hasan

10) gm‘mÝ¶kmZ
10) ...........¶m ’w$Q>~m°b IoimSy>Zo ......... ¶m à{VñnÜ¶m©da ‘mV H$ê$Z B{VhmgmVrb gdm©V ‘moR>çm Xþgè¶m ’$aH$mZo 2022

Mm ~°bmoZ S>r Amoa ~hþ‘mZ nQ>H$m{dbm.
1) {bAmoZob ‘ogr, H$arZ ~|P|‘m 2) H$arZ ~|P|‘m, gm{X¶mo ‘mZo
3) gm{X¶mo ‘mZo, H$ar‘ ~|P|‘m 4) {¼ñV¶mZmo amoZmëS>mo, gm{X¶mo ‘mZo

10) ______ won the 2022 Ballon d’Or by the second-biggest margin in history by beating ______.

1) Lionel Messi; Karim Benzema 2) Karim Benzema; Sadio Mane

3) Sadio Mane; Karim Benzema 4) Cristiano Ronaldo; Sadio Mane

(2) ̂ maVr¶ ñdmV§Í¶ bT>m d AmYw{ZH$ ̂ maVmMm B{Vhmg ‘hmamḯ>mgh/2
11) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ̀ wÕo
12) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ̂ y{‘H$m
13) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
14) gm‘m{OH$ Ym{‘©H$ gwYmaUm, {ejU Am{U àog
15) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
16) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
17) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
18) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd, ñdmV§Í¶ Midir- ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
19) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm, H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
20) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m, g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV
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11) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
11) Imcrc {dYmZo MyH$ H$s ~amo~a Vo ñnï> H$am.

a)  dmgwXod ~id§V ’$S>Ho$ ¶m§Zr chÿOr ~wdm ¶m§À¶mH$Sy>Z cîH$ar {ejU àmá Ho$co.
b) 10 Am°JñQ>, 1857 hr {dÐmohmMr VmarI {ZpíMV H$éZ gmd§VdmS>rÀ¶m R>mHy$a qgh ¶m§À¶m ZoV¥ËdmImcr H$mS>rÀ¶m

O§JcmV B§J«Or goZog h¡amU H$éZ gmoS>co.
n¶m©¶r CÎmao :
1) {dYmZ (a) MyH$ Amho, (b) ~amo~a Amho 2) {dYmZ (b) MyH$ Amho, (a) ~amo~a Amho
3) XmoÝhr {dYmZo ~amo~a AmhoV 4) XmoÝhr {dYmZo MyH$ AmhoV

11) Consider the following statements correct or incorrect :

a) Vasudev Balavant Phadke got a Military education from Lahuji Buwa.

b) 10th August, 1857 a date fixed for uprising under leadership of Thakur Singh of Sawantwadi and

harassed the British Army in the Jungle of Kadi.

Answer options :

1) Statement (a) is incorrect, (b) is correct 2) Statement (b) is incorrect, (a) is correct

3) Both statements are correct 4) Both statements are incorrect

12) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
12) dm°aZ hoñQ>t½OÀ¶m H$ma{H$XuV (1772 Vo 85) nwT>rbn¡H$s H$moUVr JmObobr àH$aUo KS>br hmoVr ?

A) amohrbI§S> àH$aU ~) Z§XHw$‘maMr ’$mer H$) MoVqgJ àH$aU S>) AdYÀ¶m ~oJ‘Mo àH$aU
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) ~, H$, Am{U S> ’$º$ 4) darb gd© ~amo~a

12) Which of the following famous cases occurred during the reign of Warren Hastings (1772 to

85)?

a) Rohilkhand case b) Execution of Nandkumar

c) Chetsingh case d) The Awadh Begum’s case

Answer Options :

1) a and b only 2) b and c only

3) b, c and d only 4) All of the above are correct

13) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
13) ‘w§~B© d ‘Ðmg ¶oWo àm§{VH$ H$m¶Xo‘§S>imMr {Z{‘©Vr H$moUË¶m H$m¶ÚmÝd¶o Pmcr hmoVr ?

1) ao½¶wcoqQ>J A°³Q> 2) 1833 Mm H$m¶Xm
3) ^maV gaH$maMm H$m¶Xm (1858) 4) 1861 Mm H$m¶Xm

13) Which Act created the Bombay and Madras Provincial Legislatures ?

1) Regulating Act 2) Actof 1833

3) Government of India Act (1858) 4) Actof 1861
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14) gm‘m{OH$ Ym{‘©H$ gwYmaUm, {ejU Am{U àog
14) Imcrc OmoS>çm Owidm

a) amOmam‘ ‘mohZ am°¶ i) F$½doXm{X ^mî¶ ŷ{‘H$m
b) ñdm‘r X¶mZ§X gañdVr ii) gmd©O{ZH$ gË¶Y‘©
c) ‘hmË‘m ’w$co iii) gw~moY n{ÌH$m
d) S>m°. AmË‘mam‘ nm§Sw>a§J iv) doXm§V gma
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iii) (ii) (iv) (i)

3) (i) (iv) (ii) (iii)

4) (iv) (i) (ii) (iii)

14) Match the following pairs :

a) Rajaram Mohan Roy i) Rigvedadi Bhashya Bhumika

b) Swami Dayanand Saraswati ii) Sarvajanik Satyadharma

c) Mahatma Phule iii) Subodh Patrika

d) Dr. Atmaram Pandurang iv) Vedant Saar

Answer options :

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iii) (ii) (iv) (i)

3) (i) (iv) (ii) (iii)

4) (iv) (i) (ii) (iii)

15) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
15) B§J«O gm‘«mÁ¶ gÎmoMo ^maVr¶ bmoH$m§À¶m OrdZmda nS>boë¶m n[aUm‘m~m~V nwT>rbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?

A) qhXþñWmZmVrb CÚmoJY§ÚmV dmT> Pmbr
~) ehao Amog nS>br
H$) eoVr hmV à‘wI ì¶dgm¶ ~Zbm
S>) B§J«O amOdQ>rÛmao g‘mO gwYmaUoMm à¶ËZ Pmbm
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ ’$º$ 2) ~ Am{U H$ ’$º$ 3) ~, H$ Am{U S> ’$º$ 4) H$ Am{U S> ’$º$

15) Which of the following statements are correct about the impact of British imperial power on the

lives of Indian People ?

a) Indian Industrialization was increased

b) Decline of cities

c) Agriculture became the main occupation

d) British rule attempted to social reforms

Answer Options :

1) a, b and c only 2) band c only 3) b, c and d only 4) cand d only
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16) amḯ>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
16) 1885 ‘Ü¶o A{Ib ^maVr¶ amï´>r¶ g ôÀ¶m ñWmnZonydu ^maVmV Imbrbn¡H$s H$moUVr/H$moUË¶m amOH$s¶ g§KQ>Zm H$m¶©

H$arV hmoVr/hmoË¶m?
a) B§{S>¶Z Agmo{gEeZ b) A{^Zd ^maV
c) nwUo gmd©O{ZH$ g^m d) B§{S>¶Z Z°eZb ¶w{Z¶Z
n¶m©¶r CÎmao …
1) ¶mn¡H$s gd© 2) (a), (c) Am{U (d) 3) (b), (c) Am{U (d) 4) (a), (b) Am{U (c)

16) Before the formation of the All Indian National Congress in 1885, which of the following Political

organizations was/were functioning in India ?

a) Indian Association b) Abhinav Bharat

c) Pune Sarvjanik Sabha d) Indian National Union

Answer Options :

1) All of these 2) (a), (c) and (d) 3) (b), (c) and (d) 4) (a), (b) and (c)

17) H«$m§{VH$maH$ g§KQ>Zm d amḯ>dmX
17) 1905 Z§Va ^maVr¶ amï´>dmXmg MmcZm XoÊ¶mgmR>r eó~imMm dmna H$aÊ¶mg H$moUË¶m d¥ÎmnÌmZo CÎmoOZ {Xco ?

a) Oo‘g {hH$s ¶m§Mo ~§Jmc J°PoQ> b) ‘Ðmg ³¶y[a¶a
c) Eg.EZ.goZ ¶m§Mo B§{S>¶Z {‘aa d) ‘hmamï´>mVrc "H$mi" ho d¥ÎmnÌ
n¶m©¶r CÎmao :
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$
3) ’$º$ (b) 4) ’$º$ (d)

17) Which newspaper encouraged to use weapons for motivating the Indian Nationalism after 1905 ?

a) Bengal Gazettee by James Hickey b) Madras Courier

c) Indian Mirror of S.N. Sen d) ‘Kal’ a newspaper in Maharashtra

Answer Options :

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (b) 4) Only (d)

18) H$m±J«og nj - g§ñWmnH$, A{YdoeZo,  ñdmV§Í¶ Midir- ñdXoer, Agh`moJ,  H$m`Xô §J, ^maV N>moS>mo
18) 1922 ‘Ü¶o {MVJmd ¶oWo ^aboë¶m àm§{VH$ H$m±J«ogMo AÜ¶jnX ...... ¶m§Zr ŷf{dbo hmoVo.

1) n§{S>Vm a‘m~mB© 2) a‘m~mB© amZS>o
3) dg§VrXodr Xmg 4) C{‘©bmXodr Xmg

18) ...... was the president of the provincial congress convened at Chittagong in 1922.

1) Pandita Ramabai 2) Ramabai Ranade

3) Vasantidevi Das 4) Urmiladevi Das
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19) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm, H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
19) eoVH$ar d H$mamJra hoM XoemMo Im§~ AmhoV, nU Ë¶m§Mr XþX©em Pmcr Amho, Aer I§V H$moUr ì¶º$ Ho$cr Amho ?

1) JUnV nmQ>rc 2) ‘wHw§$Xamd nmQ>rc
3) H¥$îUamd ^mcoH$a 4) ¶ed§Vamd Xoe‘wI

19) Who expressed his grief by saying that farmers and workers are real strong pillars of the nation,

but they are now suffering ?

1) Ganpat Patil 2) Mukundrao Patil

3) Krishnarao Bhalekar 4) Yashwantrao Deshmukh

20) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m, g§̀ wº$ ‘hmamḯ> Midi d ñdmV§Í¶moÎma ^maV
20) g§¶wº$ ‘hmamï´> n[afX Am{U g§¶wº$ ‘hmamï´> g{‘Vr g§~§Yr "‘hmamï´>mMo ‘hm‘§WZ" hm J«§W df© 1965 ‘Ü¶o H$moUr

{c{hcm?
1) ^mJdV ìhr.nr. 2) EZ.Ama.’$mQ>H$ 3) cmcOr n|S>go 4) ’$S>Ho$ dm¶.S>r

20) In the year 1965, who wrote the book ‘Maharashtrache Mahamanthan’ related to the Samyukta

Maharashtra Parishad and Sumyukta Maharashtra Samiti ?

1) Bhagwat V.P. 2) N.R.Phatak 3) Lalji Pendse 4) PhadakeY.D.

(3) ̂ maV d ‘hmamḯ> amÁ¶ì¶dñWm
21) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho, àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
22) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r, KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io
23) H|$Ð-amÁ` g§~§Y, Ý`m`nm{bH$m
24) g§gX, amÁ¶ {dYr‘§S>i, amOH$s¶ nj d {ZdS>UwH$m
25) H|$Ðr¶ àemgH$s¶ ¶§ÌUm - H$m ©̀H$mar, {d{Y‘§S>i
26) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
27) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr, {Oëhm àemgZ
28) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
29) ‘m{hVr A{YH$ma H$m¶Xm - CËH$m§Vr, CÔoe, ‘hËdmMr H$b‘o, XþéñË¶m d n[a{eï>o
30) ‘m{hVr A{YH$ma H$m¶Xm - A§‘b~OmdUr ¶§ÌUm, amÁ¶ d H|$Ðr¶ ‘m{hVr Am¶moJ, Am¶wº$, A{YH$mar, Anrb

21) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho, àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
21) ^maVmÀ¶m g§{dYmZm‘Ü¶o Am°ñQ´>o{b¶Z g§{dYmZm‘YyZ H$moUVr d¡{eîQ>ço/VÎdo KoÊ¶mV Ambr AmhoV?

a) g‘dVu gyMr
b) gdm}À¶ Ý¶m¶mb¶mMo g„mJma A{YH$ma joÌ
c) ì¶mnma, dm{UÁ¶ d nañna g§~§YmMo ñdmV§Í¶
d) g§gXr¶ {deofm{YH$ma
n¶m©¶r CÎmao …
1) (a) Am{U (c) ’$º$ 2) (b) Am{U (d) ’$º$
3) (a), (b) Am{U (c) ’$º$ 4) (a), (b) Am{U (d) ’$º$
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21) Which were the features borrowed from Australian Constitution to Constitution of India ?

a) Concurrent list

b) Advisory jurisdiction of the Supreme Court

c) Freedom of trade, commerce and interrelation

d) Parliamentary privileges

Answer options :

1) Only (a) and (c) 2) Only (b) and (d)

3) Only (a), (b) and (c) 4) Only (a), (b) and (d)

22) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r, KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io
22) ^maVmÀ`m g§{dYmZmV n[a^m{fV Ho$ë`mà‘mUo, H|$Ð gaH$maÀ`m qH$dm amÁ` qH$dm H|$Ðem{gV àXoemÀ`m AIË¶marVrb

gm‘m{OH$ Am{U e¡j{UH$Ñï²>`m ‘mJmg dJm©Mr VaVyX _____ ¶m H$b‘mZwgma Amho.
1) H$b‘ 342 - A 2) H$b‘ 344 B 3) H$b‘ 345 B 4) H$b‘ 233 A

22)  As defined under the Coustitution of India, "socially and educationally backward classes as are

so deemed under ______ for the purposes of the central Government or the State or Union

territory, as the case may be.

1) Article 342 A 2) Article 344 B 3) Article 345 B 4) Article 233 A

23) H|$Ð-amÁ` g§~§Y, Ý`m`nm{bH$m
23) Imbrbn¡H$s H$moUË`m AmYmamda amï´>nVr ^maVr` amÁ`KQ>ZoÀ`m H$b‘ 143 A§VJ©V gdm}ƒ Ý`m`mb`mMo ‘V ‘mJy

eH$VmV?
1) H$m`ÚmMo àíZ {Z‘m©U Pmbo 2) H$m`Xm Am{U dñVwpñWVrMm àíZ {Z‘m©U Pmbm Amho
3) gmd©O{ZH$ YmoaUmMm ‘wÔm 4) gmd©O{ZH$ {hVmMm àíZ

23) On which of the following grounds the President can seek opinion of Supreme court under Article

143 of the Constitution of India?

1) Issues of law arisen 2) Question of law & fact has arisen

3) Public policy issue 4) Question of public interest

24) g§gX, amÁ¶ {dYr‘§S>i, amOH$s¶ nj d {ZdS>UwH$m
24) Imbrbn¡H$s H$moUË¶m {d^mJr¶ ñWm¶r g{‘Ë¶m bmoH$g ôÀ¶m A§VJ©V H$m¶©aV AmhoV?

a) CÚmoJ g{‘Vr b) H¥$fr g{‘Vr
c) g§ajU g{‘Vr d) ‘Zwî¶~i g§gmYZ {dH$mg g{‘Vr
n¶m©¶r CÎmao …
1) (b) Am{U (c) ’$º$ 2) (a), (b) d (c) ’$º$ 3) (a), (c) d (d) ’$º$ 4) darb gd©

24) Which of the following departmental standing committees are working under Lok Sabha ?

a) Committee on Industry b) Committee on Agriculture

c) Committee on Defence d) Committee on Human Resource Development

Answer options :

1) Only (b) and (c) 2) Only (a), (b) and (c) 3) Only (a), (c) and (d) 4) All of the above
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25) H|$Ðr¶ àemgH$s¶ ¶§ÌUm - H$m ©̀H$mar, {d{Y‘§S>i
25) ‘§Í`m§Zr amï´>nVr/amÁ`nmbm§Zm H$moUVm Am{U H$gm g„m {Xbm ¶m~m~VMm ‘wÔm, Imbrbn¡H$s H$moUË`m VaVwXr/g§Ho$VmÛmao

^maVr` amÁ`KQ>ZoZo g§a{jV Ho$bm Amho ?
1) H$moUË`mhr V¥Vr` njmg‘moa CKS> Ho$bo OmD$ Z ò
2) H$moUË`mhr Ý`m`mb`mV Mm¡H$er Ho$br OmUma Zmhr.
3) Ý`m`mb`mg‘moa nwamdm åhUyZ hOa Ho$bo OmUma Zmhr.
4) g§gXoV MMm© H$ê$ Z ò

25) The question whether any, and if so what, advice was tendered by Ministers to the Governor is

protected by the Constitution of Indian by which of the following?

1) Shall not be disclosed before any third party

2) Shall not be inquired into in any court.

3) Shall not be produced as evidence before court of law.

4) Shall not be debated in parliament

26) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
26) {dYmZg ôÀ¶m {dgO©ZmZ§Va {dYo¶Ho$ aÔ H$aÊ¶mÀ¶m g§X^m©V pñWVr~Ôb ¶mo½¶ {dYmZo {ZdS>m.

a) {dYmZg ôZo ‘§Oya Ho$bobo, na§Vw {dYmZ n[afXoV àb§{~V Agbobo {dYo¶H$ aÔ hmoVo.
b) {dYmZ n[afXoV àb§{~V Agbobo na§Vw {dYmZg ôZo ‘§Oya Z Ho$bobo {dYo¶H$ aÔ hmoVo.
c) {dYmZg ôZo g§‘V Ho$bobo (EH$gXZmË‘H$ amÁ¶) qH$dm XmoÝhr g^mJ¥hm§Zr nm[aV Ho$bobo {dYo¶H$ ({ÛgXZmË‘H$ amÁ¶)

na§Vw amÁ¶nmb qH$dm amï´>nVtÀ¶m g§‘VrgmR>r àb§{~V Agob, Vo {dYo¶H$ aÔ hmoV Zmhr.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$
3) (b) Am{U (c) ’$º$ 4) (a) Am{U (c) ’$º$

26) Select the correct statements about the position with respect to lapsing of bills on the dissolution

of the Legislative Assembly.

a) A Bill passed by the Legislative Assembly but pending in the Legislative Council lapses.

b) A Bill pending in the Legislative Council but not passed by the Legislative Assembly, lapses.

c) A Bill passed by the Legislative Assembly (in a unicameral state) or passed by both the houses

(in a bicameral state) but pending assent of the Governor or President does not lapse.

Answer options :

1) Only (a) and (b) 2) Only (a) and (c)

3) Only (b) and (c) 4) All of the above
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27) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr, {Oëhm àemgZ
27) ñWm{ZH$ ñdamÁ¶ g§ñWmMo ApñVËd ho ...... ¶m KQ>H$m§da Adb§~yZ Amho.

a) A{YH$mamMo {dH|$ÐrH$aU
b) gÎmoMo {dH|$ÐrH$aU
c) {ZU©¶ à{H«$¶oVrb OZVoMm gh^mJ
n¶m©¶r CÎmao …
1) (a) Am{U (b) ’$º$ 2) (b) Am{U (c) ’$º$
3) (a) Am{U (c) ’$º$ 4) darb gd©

27) The existence of local self-government depends upon ______
a) Decentralisation of Authority
b) Decentralisation of Power
c) People’s participation in Decision-making
Answer options :

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (a) and (c) 4) All of the above

28) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
28) ^maVmVrb Imbrbn¡H$s H$moUË¶m amÁ¶m§‘Ü¶o {Ì-ñVar¶ n§Mm¶Vr amO ì¶dñWm Zmhr?

a) ZmJmb±S b) ‘oKmb¶ c) {‘Pmoam‘ d) {Ìnwam e) JwOamV
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) ’$º$ 2) (b), (c) Am{U (d) ’$º$
3) (c), (d) Am{U (e) ’$º$ 4) (a), (b) Am{U (c) ’$º$

28) Which of the following states in India there is no three-tier Panchayati Raj system ?

a) Nagaland b) Meghalaya c) Mizoram d) Tripura e) Gujarat

Answer options :

1) Only (a), (b) and (d) 2) Only (b), (c) and (d)

3) Only (c), (d) and (e) 4) Only (a), (b) and (c)

29) ‘m{hVr A{YH$ma H$m¶Xm - CËH$m§Vr, CÔoe, ‘hËdmMr H$b‘o, XþéñË¶m d n[a{eï>o
29) ‘m{hVrMm A{YH$ma H$m¶Xm 2005 Imbrb H$moUË¶m àH$aUmZo ‘m{hVrMm A{YH$ma Am{U gmd©O{ZH$ àm{YH$aUm§Mo

Xm{¶Ëd ¶m{df¶r MMm© Ho$br Amho ?
1) àH$aU I 2) àH$aU II 3) àH$aU III 4) àH$aU IV

29) Which of the following chapters of the Right to Information Act, 2005, discusses the ‘Right to

information and obligations of public authorities’?

1) Chapter I 2) Chapter II 3) Chapter III 4) Chapter IV
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30) ‘m{hVr A{YH$ma H$m¶Xm - A§‘b~OmdUr ¶§ÌUm, ‘m{hVr Am¶moJ, Am¶wº$, A{YH$mar, Anrb
30) ‘m{hVr A{YH$ma H$m¶Xm, 2005 Zo Xþgam AZwgyMr A§VJ©V Imbrbn¡H$s H$moUË¶m gaH$mar g§ñWm§Zm ¶m H$m¶©joÌmVyZ gyQ>

XoÊ¶mV Ambr Amho ?
A) gr‘m añVo {dH$mg ‘§S>i B) H|$Ðr¶ amIrd nmobrg Xb
C) ‘hgyb JwáMa g§MmbZmb¶ D) g§ajU g§emoYZ Am{U {dH$mg g§ñWm
E) amï´>r¶ Z‘wZm gd}jU g§ñWm
n¶m©¶r CÎmao …
1) Ho$di A Am{U B 2) A, B, C, D Am{U E
3) Ho$di A, B, C Am{U D 4) Ho$di A, C Am{U D

30) Which of the following government organisations are exempted from the purview under the second

schedule of the Right to Information Act, 2005?

A) Border Road Development Board

B) Central Reserve Police Force

C) Directorate of Revenue Intelligence

D) Defence Research and Development Organisation

E. National Sample Survey Organisation

Answer Options :

1) Only A and B 2) A, B, C, D and E

3) Only A, B, C and D 4) Only A, C and D

(4) ̂ maVr¶ AW©ì¶dñWm d {d{dY ~m~rer {ZJS>rV ‘wÔo
31) {Z¶moOZ ¶§ÌUm, ZrVr Am¶moJ, {Oëhm {Z¶moOZ g{‘Vr
32) amï´>r` CËnÞ - OrìhrE, OrS>rnr, AW©g§H$ën, gmd©O{ZH$ IM©, Am{W©H$ Am{U {dÎmr` YmoaUo - H$a ‘hgyb
33) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
34) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ, {dXoer ì`mnma, ~±qH$J
35) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
36) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ ̀ m§À`m g§X^m©V
37) amoOJma {Z{‘©Vr H$m ©̀H«$‘, ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
38) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aÚ« {Z‘y©bZ H$m ©̀H«$‘
39) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm
40) {ejU, Amamo½`, gm‘m{OH$ gwajm joÌmVrb dmT> - {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
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31) {Z¶moOZ ¶§ÌUm, ZrVr Am¶moJ, {Oëhm {Z¶moOZ g{‘Vr
31) H|$Ðr` AW©g§H$ën 2023 À`m g§X^m©V; Imbrb Jmoï>r Owidm.

           àmYmÝ`                 Cnm`
a) gd©g‘mdoeH$ {dH$mg I) XwîH$mir ^mJmgmR>r nmUr
b) eodQ>À`m Ü¶o¶mn ª̀V nmohmoMUo II) H¥$frgmR>r {S>{OQ>b gmd©O{ZH$ nm`m ŷV gw{dYm
c) h[aV d¥Õr III) pñH$b B§{S>`m {S>{OQ>b ßb°Q>’$m°‘©
d) ẁdm eº$s IV) nrE‘-àUm‘
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)
2) (i) (ii) (iii) (iv)
3) (iv) (iii) (ii) (i)
4) (iii) (ii) (i) (iv)

31) In reference to Union Budget 2023 ; Match the followings.
           Priority                  Measures

a) Inclusive development I) Water for drought prone area
b) Reaching the last mile II) Digital Public Infrastructure for Agriculture
c) Green growth III) Skill India digital platform
d) Youth power IV) PM-PRANAM
Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)
2) (i) (ii) (iii) (iv)
3) (iv) (iii) (ii) (i)

4) (iii) (ii) (i) (iv)

32) amḯ>r` CËnÞ - OrìhrE, OrS>rnr, AW©g§H$ën, gmd©O{ZH$ IM©, {dÎmr` YmoaUo - H$a ‘hgyb
32) ‘hmamï´> amÁ` AW©g§H$ën 2023 ‘Ü ò, ‘m. AW©‘§Í`m§Zr eoVH$ar H|${ÐV `moOZm Omhra Ho$ë`m. `m g§X^m©V Imbrbn¡H$s

H$moUVo ~amo~a/Zmhr?
a) ‘hmH¥$fr {dH$mg `moOZm
b) YmZ / Vm§Xÿi CËnmXH$ eoVH$è`m§Zm 15,000 é. à{V hoŠQ>a àmoËgmhZna a¸$‘ àXmZ H$aUo
c) ‘hmamï´> lrAÞ A{^`mZ
d) PMFBY ‘Ü ò eoVH$è`m§Mm {d‘m hám amÁ` gaH$ma ^aob
e) CËnÞ g‘W©Z é. H|$Ðr` PM-KISAN ̀ moOZ|VJ©V g‘m{dï>/bm^ Z {‘imboë`m eoVH$ar Hw$Qw>§~m§Zm à{Vdfu 6,000
n`m©¶r CÎmao :
1) ’$º$ a Am{U c 2) a Am{U d ’$º$ 3) a ’$º$ 4) e ’$º$

32) In Maharashtra State Budget 2023, Hon. Finance Minister announced Farmer Centric Schemes.
In this context which of the following is/are not correct ?
a) Mahakrishi Vikas Yojna
b) Provide an incentive amount of Rs. 15,000 per ha. to the paddy farmers
c) Maharashtra “Shree Anna” Abhiyan
d) In PMFBY insurance premium of farmer will be paid by the State Government
e) Income support of Rs. 6,000 per year to farmer families who are not covered/ benefited under

Central PM-KISAN Scheme
Answer options :
1) a and c only 2) a and d only 3) a only 4) e only
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33) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
33) àYmZ‘§Ìr H¥$fr qgMmB© `moOZoMo (PMKSY) à‘wI KQ>H$ .......... ho AmhoV.

1) àdoJH$ qgMZ bm^ H$m ©̀H«$‘ (AIBP) 2) ha IoV H$mo nmZr (HKKP)

3) à{V S´m°n ‘moAa H«$m°n (PDMC) 4) darb gd©
33) Major components of Pradhan Mantri Krishi Sinchayee Yojana (PMKSY) are

1) Accelerated Irrigation Benefit Program (AIBP) 2) Har Khet Ko Pani (HKKP)

3) Per Drop More Crop (PDMC) 4) All of the above

34) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ, {dXoer ì`mnma, ~±qH$J
34) dfm©Zwdf} XaS>moB© CËnÞmMr nmVir gwYmaV AgVmZm eoVrda Adb§~yZ Agboë`m l‘eº$sMo à‘mU H$‘r hmoVo na§Vw Vo

............ Am{U godm joÌmV dmTV OmVo.
1) ì`mnma 2) ì`dgm` 3) gmdH$ma 4) CÚmoJ

34) As the level of per capita income improves over the years the proportion of labour force dependent

on agriculture declines but that on ........... and services increases.

1) trading 2) business 3) money lender 4) industry

35) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
35) AmOr{dH$m J«m‘rU EŠgàog `moOZm (AGEY) J«m‘rU ^mJmV gwa{jV, nadS>Umar Am{U gm‘wXm{`H$ {ZarjU Ho$boë`m

dmhVyH$ godm àXmZ H$aVo. dmhZo Ë`m§À`m ‘mbH$sMr Am{U MmbdVmV
1) J«m‘n§Mm`V 2) ghH$mar g§ñWm
3) ñd §̀-‘XV JQ>mMo gXñ` (SHG) 4) 4) darbn¡H$s H$mhrhr Zmhr

35) Aajeevika Grameen Express Yojana (AGEY) provides safe, affordable and community monitored

transport services to rural areas. The vehicles are owned and operated by

1) Grampanchayat 2) Co-operative society

3) Member of Self-Help Group (SHG) 4) 4) None of the above

36) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V
36) nwT>rc {dYmZm§Mm {dMma H$am :

{dYmZ (I) : ‘{hcm Am{U ~mcHo$ ¶m§Zm EH$mpË‘H$ cm^ XoÊ¶mgmR>r {‘eZ eº$s ¶moOZm gwé H$aÊ¶mV Amcr.
{dYmZ (II) : 2022-23 ¶m dfm©H$[aVm "{‘eZ dmËgë¶gmR>r" é. 2,472 H$moQ>r BVH$s VaVyX H$aÊ¶mV Amcr.
n¶m©¶r CÎmao :
1) {dYmZo (II) ~amo~a Amho, MyH$ Amho 2) {dYmZ (I) ~amo~a Amho, (II) MyH$ Amho.
3) XmoÝhr {dYmZo MyH$ AmhoV 4) XmoÝhr {dYmZo ~amo~a AmhoV

36) Consider the following statements :

Statement (I) : The Mission Shakti Yojana was launched to provide integrated benefits to women

and children.

Statement (I) : A provision of T 2,472 crore has been made for ‘Mission Vatsalya’ for the year

2022-23.

Answer options :

1) Statement (II) is correct, (I) is incorrect 2) Statement (I) is correct, (II) is incorrect

3) Both statements are incorrect 4) Both statements are correct
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37) amoOJma {Z{‘©Vr H$m ©̀H«$‘, ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
37) ""g§nyU© J«m‘rU amoOJma ¶moOZm""(SGRY) .......... ‘Ü¶o gwé H$aÊ¶mV Amcr.

1) gßQ>§|~a 2001 2) Zmoìh|~a 2001
3) {S>g|~a 2003 4) OmZodmar 2001

37) “Sampoorna Gramin Rozgar Yojaria” (SGRY) was launched in

1) September 2001 2) November 2001

3) December 2003 4) January 2001

38) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘
38) ............ ¶m g{‘Ë¶m Xm[aÐçmer g§~§{YV ZmhrV.

a) Xm§S>oH$a d aW g{‘Vr b) {‘Ýhmg g{‘Vr
c) Zaqgh‘ g{‘Vr d) Vmamnmoa g{‘Vr
n¶m©¶r CÎmao :
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) darc gd©

38) ....... these committees are not related to poverty.

a) Dandekar and Rath’s Committee b) Minhas Committee

c) Narasimham Committee d) Tarapore Committee

Answer options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) 4) All of the above

39) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm
39) ^maV gaH$maZo J[a~m§da bj H|${ÐV H$ê$Z bpú`V gmd©O{ZH$ {dVaU àUmbr (TPDS) bm±M Ho$br.

1) OyZ 1945 2) OyZ 1946 3) OyZ 1992 4) OyZ 1997
39) The Government of India launched the Targated Public Distribution Systems (TPDS) with a focus

on the poor in

1) June 1945 2) June 1946 3) June 1992 4) June 1997

40) {ejU, Amamo½`, gm‘m{OH$ gwajm joÌmVrb dmT> -{d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
40) emco¶ nmofU Amhma ¶moOZoer nwT>rcn¡H$s H$moUË¶m ~m~r g§~§{YV AmhoV ?

a) àmW{‘H$ {ejUmMo gmd©{ÌH$aU H$aUo. b) {dÚmÏ¶mªMr nQ>Zm|XUr dmT>{dUo.
c) ‘mo’$V JUdoe dmQ>n H$aUo. d) darc gd©
darcn¡oH$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) ’$º$ (d)

40) ‘Which of the following is related to school mid-day meal programme ?

a) Universalization of primary education b) Increasing student enrolment

c) Distribute free uniforms d) All of the above

Which of the statement(s) given above is/are correct ?

1) (a) and (b) 2) (b) and (c) 3) (a) and (c) 4) Only (d)
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(5) gm‘mÝ¶ {dkmZ d V§ÌkmZ
41) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
42) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ
43) AmdV© gmaUr - YmVy Am{U AYmVy, amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
44) g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
45) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
46) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ
47) dZñnVtMo dJuH$aU Am{U CXmhaUo, H¥$fr{dkmZ d dZemó
48) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
49) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
50) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘, AÞ Am{U nmofU

41) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
41) Imbrbn¡H$s H$moUË`m {Xì`mMo gamgar Am ẁî` gdm©{YH$ Amho?

1) gmo{S>`‘ ìhona {Xdm 2) nmam dm’o$Mm {Xdm 3) BÝH°$ÝS>oÝg|Q> {Xdm 4) âbmoamog|Q> {Xdm
41) Average life of which of the following lamp is highest ?

1) Sodium vapour lamp 2) Mercury vapour lamp

3) Incandescent lamp 4) Fluorescent lamp

42) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ
42) âboq‘JÀ`m S>mì`m hmVmÀ`m {Z`‘mV ...............

n{hbo ~moQ> .......... Mr {Xem Xe©dVo.
Xwgao ~moQ> ........... Mr {Xem Xe©dVo.
A§JR>m ........... Mr {Xem Xe©dVmo.
AZwH«$‘o -
1) ~b, Mw§~H$s` joÌ, àdmh 2) Mw§~H$s` joÌ, {dÚwV² àdmh, ~b
3) Mw§~H$s` joÌ, ào[aV B©E‘E’$, ~b 4) dV©‘mZ, Mw§~H$s` joÌ, ~b

42) In Fleming’s Left Hand Rule ,

First finger indicates direction of ..........

Second finger indicates direction of ...........

Thumb indicates direction of ...........

respectively -

1) Force, magnetic field, current 2) Magnetic field, current, force

3) Magnetic field, induced emf, force 4) Current, magnetic field, force
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43) AmdV© gmaUr - YmVy Am{U AYmVy, amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
43) Imbrb {dYmZm§n¡H$s H$moUVo/`mo½`/AmhoV?

A) ‘moZmoH°$pëe`‘ ’$m°ñ’o$Q> ho nmÊ`mV {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
~) {S>H°$pëe`‘ ’$m°ñ’o$Q> ho gm`{Q´H$ A°{gS> {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
H$) Q´m`H°$pëe`‘ ’$m°ñ’o$Q> ho AKwbZerb ’$m°ñ’$mo[aH$ A°{gS> Amho.
S>) gwna ’$m°ñ’o$Q>, {Q´nb gwna ’$m°ñ’o$Q> Am{U A‘mo{Z`‘ ’$m°ñ’o$Q>‘Ü ò ’$m°ñ’$mo[aH$ A°{gS>À`m ñdê$nmV P ’$m°ñ’ag

CnbãY AgVmo.
n`m©¶r CÎmao :
1) ’$º$ A 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

43) Amongst the following statement/s which is/are correct ?

a) Monocalcium phosphate is water soluble phosphoric acid.

b) Dicalcium phosphate is citric acid soluble phosphoric acid.

c) Tricalcium phosphate is insoluble phosphoric acid.

d) Super phosphate, triple super phosphate and ammonium phosphate contain P in the available

form of phosphoric acid.

Answer options :

1) a only 2) b only 3) a,b and c only 4) a, b, c and d

44) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
44) aò m°Z ho qgWo{Q>H$ V§Vy§nojm doJio Amho H$maU:

1) ho aoer‘Mo Xwgao Zmd Amho
2) bmH$S>mÀ`m bJÚmnmgyZ amgm`{ZH$ à{H«$`m H$ê$Z Vo {‘iVo.
3) ho EH$ Z¡g{J©H$ ’$m`~a Amho Am{U Vo OgoÀ`m Vgo dmnabo OmVo.
4) darbn¡H$s H$mhrhr Zmhr

44) Rayon is different from synthetic fibres because :

1) It is the other name of silk

2) It is obtained from wood pulp by chemical treatment.

3) It is a natural fibre and used as it is.

4) None of the above

45) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
45) nm°{c‘aoO MoZ [aA°ŠeZ hr ...... emókmZo {dH${gV Ho$bobr H«$m§{VH$mar nÕV Amho.

1) nm°b âbmoar 2) nrQ>a S>o~r
3) H°$ar ‘w{bg 4) ’«$mpÝgg ‘mH©$

45) Polymerase Chain Reaction is a revolutionary method developed by ......

1) Paul Flory 2) Peter Debye

3) Kary Mullis 4) Francis Mark
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46) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ
46) ìhm°a‘m±Q> {díd{dÚmb¶ Am{U Q>âQ>g {díd{dÚmb¶mÀ¶m g§Km§Zr ~Z{dbobr ñd¶§à{VH$aUr¶ gOrd ¶§Ì‘mZd (amo~mo)

...... Am{U ...... Am{’«$H$s ZIar ~oS>H$mÀ¶m noetMm Amho.
1) ewH«$noer Am{U ~rOm§S> 2) öX¶r Am{U ËdMm
3) Ho$eê$ Am{U aº$ 4) AmpñWOZH$ noer Am{U AmpñWemofH$ noer

46) Xenobots or self replicating living robots built by the University of Vermont and team at Tufts
University consists of ...... and ...... cells of the African clawed frog.
1) Spermatozoa and ova 2) Cardiac and skin
3) Neural and blood 4) Osteoblasts and osteoclasts

47) dZñnVtMo dJuH$aU Am{U CXmhaUo, H¥$fr{dkmZ d dZemó
47) Imbrbn¡H$s H$moUË`m {nH$m§Zm APmopñn[ab‘Mm ’$m`Xm hmoVmo?

1) ~mOar, ‘H$m 2) {‘aMr, Q>mo‘°Q>mo 3) ~Q>mQ>m, H$m§Xm 4) ŵB©‘yJ, gỳ ©’y$b
47) Which of the following crops are benefitted by Azospirillum ?

1) Bajra, Maize 2) Chili, Tomato 3) Potato, Onion 4) Groundnut, Sunflower

48) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
48) "ñdrQ> [aìhmoë ỳeZ' H$emer g§~§{YV Amho?

1) gmIaoMo CËnmXZ 2) ‘Y‘mer nmbZ Am{U ‘Y Am{U g§~§{YV CËnmXZm§Mo CËnmXZ
3) JmoS> Xw½YOÝ` nXmWmªMo CËnmXZ 4) à{H«$`m Ho$boë`m ’$i CËnmXZm§Mo CËnmXZ

48) What is ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products

4) Production of processed fruit products

49) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
49) earamÀ¶m EImÚm D$Vrg gyO ¶oÊ¶mg H$maUr ŷV noerOÝ¶ KQ>H$m‘Ü¶o Imbrbn¡H$s H$emMm g‘mdoe hmoV Zmhr?

1) àmoñQ>°½b±{S>Ýg 2) ë ẁH$mo{Q´Ýg 3) BH$mog°Zm°BS²g 4) ~«°S>r{H${ZZ
49) All of these are cell-derived mediators of inflammation, EXCEPT :

1) prostaglandins 2) leukotrienes 3) eicosanoids 4) bradykinin

50) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘, AÞ Am{U nmofU
50) KamVrb dm ỳ àXyfUm‘wio ho {dH$ma hmoVmV -

A) ’w$â’w$gmMm H$H©$amoJ ~) Ý ỳ‘mo{Z`m H$) j`amoJ S>) A§YËd
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

50) Indoor air pollution causes -
a) Lungs cancer b) Pneumonia c) Tuberculosis d) Blindness
Which of the statement given above is/are correct ?
1) a only 2) b only 3) a, b and c only 4) a, b, c and d
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(6) ‘hmamḯ>, ̂ maV d OJmMm ̂ yJmob ‘hmamḯ>mÀ¶m ̂ mam§emgh
51) gỳ ©‘mbm Am{U n¥Ïdr-Ajm§e Am{U aoIm§e, ̂ yH§$n Am{U Ádmbm‘wIr, IS>H$
52) OmJ{VH$ {d^mJ - ̂ m¡Jmo{bH$ d¡{eï²> ò, hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
53) OJmMm gm‘m{OH$ ̂ yJmob - bmoH$g§»`m, ̂ mfm, d§e, ̂ m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m
54) OJmMm Am{W©H$ ̂ yJmob - I{ZOo Am{U D$Om© gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZo Am{U n`m©daU, H¥$fr
55) ^maVmMm ^m¡{VH$ ŷJmob- ^maVr` CnI§S>mVrb CËH«$m§Vr, {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ, ~oQ>o,

^maVmVrb ZÚm Am{U àH$ën, hdm‘mZ d nO©Ý¶‘mZ
56) ^maVmMm gm‘m{OH$ d amOH$s` ̂ yJmob - bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m, ̂ m¡Jmo{bH$ amOH$maU
57) ^maVmMm Am{W©H$ ŷJmob - H¥$fr, dZñnVr, dZo, I{ZOo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
58) ‘hmamï´>mMm ^m¡{VH$ ŷJmob - gømÐr Am{U Ë`mÀ`m nd©Vam§Jm, ZÚm Am{U YaUo, IS>H$, ‘mVr, nrHo$, dZo d dZñnVr
59) ‘hmamḯ>mMm gm‘m{OH$ d amOH$s` ̂ yJmob - bmoH$g§»`m, ñWbm§Va, dñË`m Am{U O‘mVr, {Oëøm§Mr {Z{‘©Vr d gr‘maofm
60) ‘hmamï´>mMm Am{W©H$ ̂ yJmob - H¥$fr, dZñnVr, I{ZOo, D$Om© g§gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma

51) gỳ ©‘mbm Am{U n¥Ïdr-Ajm§e Am{U aoIm§e, ŷH§$n Am{U Ádmbm‘wIr, IS>H$
51) nyd© A{’«$Ho$Vrb IMXarV ............... hr gamodao AmT>iVmV.

a) Ý¶mgm Am{U éS>moë’$ b) pìh³Q>moar¶m
c) gwno[aAa Am{U {‘{MJZ d) Bao
n¶m©¶r CÎmao …
1) (a) Am{U (d) 2) (b) ’$º$ 3) (c) Am{U (d) 4) (d) ’$º$

51) These lakes are occurred in the rift valley in East Africa.

a) Nyasa and Rudolf b) Victoria

c) Superior and Michigan d) Erie

Answer options :

1) (a) and (b) 2) Only (b) 3) (c) and (d) 4) Only (d)

52) OmJ{VH$ {d^mJ - ^m¡Jmo{bH$ d¡{eï²> ò, hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
52)  nyd© àem§V ‘hmgmJamMo nmUr Agm‘mÝ`nUo W§S> AgVmZm ............ gmJar àdmh CX²̂ dVmo.

1) MH«$sdmXi 2) A±{Q>gm`ŠbmoZ 3) bm {ZZm 4) EINino

52) ............ occurs when the waters of the eastern Pacific are abnormally cold.

1) Cyclone 2) Anticyclone 3) La Nina 4) EINino

53) OJmMm gm‘m{OH$ ŷJmob - bmoH$g§»`m, ^mfm, d§e, ^m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo
53) OJmVrb n{hbr bmJdS> Ho$bobr {nHo$ AmhoV

1) Jhÿ Am{U Vm§Xyi 2) Jhÿ Am{U ~mbu
3) Jhÿ Am{U ‘H$m 4) Jhÿ Am{U Ádmar

53) The first cultivated crops in the world are

1) Wheat and Rice 2) Wheat and Barley

3) Wheat and Maize 4) Wheat and Sorghum
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54) OJmMm Am{W©H$ ŷJmob - I{ZOo , CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZo Am{U n`m©daU, H¥$fr
54) Imbrbn¡H$s H$moUVr {dYmZ/{dYmZo AMyH$ Amho/AmhoV?

a) ~m°³gmB©Q>Mm dmna ‘w»¶V… A°ë¶w{‘{Z¶‘ {Z{‘©VrgmR>r Ho$bm OmVmo.
b) ñnoZ Am{U OnmZ ho ^maVmVyZ ~m°³gmB©Q>Mr gdm©{YH$ Am¶mV H$aUmao Xoe AmhoV.
c) Amo{S>emMm ~m°³gmB©Q>À¶m CËnmXZmV ^maVmV àW‘ H«$‘m§H$ bmJVmo.
d) H$moëhmnya, aËZm{Jar, gmVmam, R>mUo ho ‘hmamï´>mVrb ~m°³gmB©Q> CËnmXZ H$aUmao {Oëho AmhoV.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (c) ’$º$
3) (a), (c) Am{U (d) 4) darb gd©

54) Which of the following statements is/are correct ?

a) Bauxite is used mainly for the production of aluminium.

b) Spain and Japan are the largest importers of Indian bauxite.

c) Odisha stands first in the production of bauxite in India.

d) Kolhapur, Ratnagiri, Satara, Thane are the bauxite producing districts of Maharashtra.

Answer options :

1) Only (a) 2) Only (b) and (c)

3) (a), (c) and (d) 4) All of the above

55) ^maVmMm ^m¡{VH$ ŷJmob- {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ, ~oQ>o, ZÚm d hdm‘mZ
55) Z°eZb aoZ’o$S> E[a`m Am°°Wm°[aQ>rZwgma, ^maVmV EH$XmM XwîH$mi nS>Ê`mMr dma§dm[aVm ......

1) 1-5 df} 2) 1-10 df} 3) 2-5 df} 4) > 10 df}
55) As per the National Rainfed Area Authority, the frequency of occurance of drought once in India

is ............

1) 1-5Years 2) 1-10 Years 3) 2-5 Years 4) > 10years

56) ^maVmMm gm‘m{OH$ d amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
56) 2011 À¶m OZJUZoZwgma, ^maVr¶ amÁ¶m§Mm bmoH$g§»¶m eoH$S>m à‘mUmZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶ Amho?

1) n§Om~ - Amgm‘ - N>ÎmrgJT> - h[a¶mUm
2) n§Om~ - N>ÎmrgJT> - Amgm‘ - h[a¶mUm
3) N>ÎmrgJT> - h[a¶mUm - n§Om~ - Amgm‘
4) h[a¶mUm - N>ÎmrgJT> - n§Om~ - Amgm‘

56) As per 2011 Census, which ascending order of states as per percentage population in India is

correct?

1) Punjab — Assam — Chhattisgarh — Haryana

2) Punjab — Chhattisgarh — Assam — Haryana

3) Chhattisgarh — Haryana — Punjab — Assam

4) Haryana — Chhattisgarh — Punjab — Assam
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57) ^maVmMm Am{W©H$ ŷJmob - H¥$fr, dZo, I{ZOo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
57) Imbrb {dYmZo {dMmamV ¿`m:

A) g[añH$m ho amOñWmZ‘Yrb amï´>r` CÚmZ Amho.
~) g[añH$m ho ì`mK« àH$ën XoIrb Amho.
H$) g[añH$mÀ`m g§a{jV A^`maÊ`mV dmKm§À`m ZwH$gmZrÀ`m g§H$Q>mgmR>r Q>mñH$ ’$mog©Mr ñWmnZm H$aÊ`mV Ambr.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (a) Am{U (H$) 2) darb gd© 3) ’$º$ (A) Am{U (~) 4) darbn¡H$s Zmhr

57) Consider the following statements :

a) Sariska is a National Park located in Rajasthan.

b) Sariska is also a Tiger Reserve.

c) Task Force was established for the crisis of loss of tigers in the protected reserve of Sariska.

Which of the above statements is/are correct ?

1) Only (a) and (c) 2) All of the above 3) Only (a) and (b) 4) None of the above

58) ‘hmamḯ>mMm ^m¡{VH$ ŷJmob - gømÐr, ZÚm Am{U YaUo, IS>H$, ‘mVr, nrHo$, dZo d dZñnVr
58) ^maVmV ŷObmMo {H$Vr àm§V AmhoV? ‘hmamï´> amÁ` H$moUË`m àm§VmV òVo?

1) 8 àm§V, S>o̧ $Z Q°́n àm§V 2) 6 àm§V, àrH°$på~«̀ Z ñ’${Q>H$mgmaIo àm§V
3) 5 àm§V, Jm|S>dmZm JmimMm àm§V 4) 7 àm§V, H±{~«̀ Z JmimMo àm§V

58) How many groundwater provinces are demarcated in India ? Maharashtra state comes under which

province ?

1) 8 provinces, Deccan trap province

2) 6 provinces, Precambrian crystalline provinces

3) 5 provinces, Gondwana sedimentary provinces

4) 7 provinces, Cambrian sedimentary provinces

59) ‘hmamḯ>mMm gm‘m{OH$ d amOH$s` ŷJmob - bmoH$g§»`m, ñWbm§Va, {Oëøm§Mr {Z{‘©Vr d gr‘maofm
59) ¶mo½¶ Om§oS>çm Owidm

ñV§̂  I (ZXr) ñV§̂  II (Ocme¶)
a) ^r‘m i) ehmOr gmJa
b) Hw$H$S>r ii) VmZmOr gmJa
c) doid§S>r iii) ¶ed§V gmJa
d) ‘wR>m iv) ¶ogmOr H§$H$ gmJa
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)
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59) Match the correct pairs.

Column I (River)  Column II (Lake)

a) Bhima i) Shahaji Sagar

b) Kukadi ii) Tanaji Sagar

c) Velwandi iii) Yashwant Sagar

d) Mutha iv) Yesaji Kank Sagar

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)

60) ‘hmamḯ>mMm Am{W©H$ ŷJmob - H¥$fr, dZñnVr, I{ZOo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
60) ‘mM© 2022 ‘Ü ò, ‘hmamï´>mMr EHy$U Aj` D$Om© ñWm{nV j‘Vm ..........

1) 23856 ‘oJmd°Q> 2) 10693 ‘oJmd°Q> 3) 50 ‘oJmd°Q> 4) 34157 ‘oJmd°Q>
60) In the month of March 2022, the total renewable energy installed capacity of Maharashtra is.............

1) 23856 MW 2) 10693 MW 3) 50 MW 4) 34157 MW

(7) H«$sS>m joÌm{df¶H$ ‘m{hVr

‘hÎdmÀ¶m H«$sS>m ñnYm©
61) OmJ{VH$ H«$sS>m ñnYm© - Am¶moOZ ñWi, df©, ¶§ÌUm, d¡{eîQ>ço
62) amï´>r¶ H«$sS>m ñnYm© - Am¶moOZ ñWi, df©, ¶§ÌUm, d¡{eîQ>ço
63) àmXo{eH$ H«$sS>m ñnYm© - Am¶moOZ ñWi, df©, ¶§ÌUm, d¡{eîQ>ço
64) embo¶ d ‘hm{dÚmb¶rZ ñVamdarb$ H«$sS>m ñnYm© - {OëhmñVar¶, {dÚmnrR> d {d^mJ ñVamdarb, Aíd‘oY

IoimSy>§Zr {d{dY ñnYm©‘Ü¶o Zm|X{dbobo {dH«$‘
65) OmJ{VH$ ñVamdarb {dH«$‘ - d¡¶{º$H$, gm§{KH$
66) amï´>r¶ d àmXo{eH$ ñVamdarb {dH«$‘ - d¡¶{º$H$, gm§{KH$
67) à{gÕ IoimSy> d Ë¶m§Mr H$m‘{Jar

Zm‘d§V IoimSy>§Mr AmË‘M[aÌo
68) IoimSy>§Mr AmË‘M[aÌo d M[aÌo
69) IoimSy>§Mo ¶moJXmZ d ~hþ‘mZ
70) H«$sS>màH$ma Am{U à{gÕ IoimSy>

H|$Ð d amÁ¶emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm
71) H|$Ð emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm - Q>m°ßg, gmB© nwañH¥$V à{ejU CnH«$‘
72) embo¶ d ‘hm{dÚmb¶rZ ñVamdarb ‘hmamîQ́> emgZmÀ¶m H«$sS>m{df¶H$ ¶moOZm
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H|$Ð d amÁ¶emgZmMo H«$sS>m{df¶H$ nwañH$ma
73) OmJ{VH$ ñVamdarb H«$sS>m{df¶H$ nwañH$ma
74) amï´>r¶ ñVamdarb H«$sS>m{df¶H$ nwañH$ma
75) ‘hmamï´> ñVamdarb H«$sS>m{df¶H$ nwañH$ma

H«$sS>m{df¶H$ {Z¶‘
76) {d{dY Ioim§Mr {Z¶‘mdbr
77) H«$sS>m{df¶H$ gm‘J«r
78) H«$sS>mgm{hË¶
79) H«$rS>m§JU - àH$ma, d¡{eîQ>ço, ñQ>o{S>¶åg

H«$sS>m ñnYm©§‘Yrb {d{dY ~m~r d CX^dUmar n[apñWVr
80) H«$sS>m ñnYm©§§§Mo Am¶moOZ - àH$ma, g§¶moOH$ d {Z¶§ÌU g{‘Ë¶m
81) H«$sS>m ñnYm©§§Mo CXKmQ>Z d g‘mamon - H«$‘, gh^mJr ì¶º$s
82) H«$sS>m ñnYm©§Mo ì¶dñWmnZ - gm_ZmnÌH$, n§M, {e{~ao
83) H«$sS>m ñnYm©§Xaå¶mZ CX^dUmar n[apñWVr

H«$sS>m {dkmZ
84) H«$sS>memó
85) emar[aH$ {ejU
86) AÜ¶mnZ, AÜ¶¶Z d ì¶º$s‘Îd{dH$mg
87) H«$rS>m à{ejU d _mJ©Xe©Z
88) H«$rS>m ì¶dñWmnZ
89) à{ejU g§ñWm d H«$sS>m {dÚmnrR>o
90) H«$rS>m _mZgemó

61) Hw$eb ‘Oya Am{U Ë`mÀ¶m H$m ©̀ n¶m©daU (‘erZ) `m§À`mVrb g§~§Ym§Mm d¡km{ZH$ Aä`mg hm ‘ñHw$bmoñHo$boQ>b {dH$ma
H$‘r H$aÊ`mg ‘XV H$aVmo Ë`mbm ________ åhUVmV.
1) ì`mdgm{`H$ amoJ 2) EH«$mo’$mo{~`m
3) ‘mZgemór` Aä`mg 4) EJm}Zm°{‘Šg

61) The scientific study of the relationship between the workman (People) and his working environment

(Machine) that helps in reduction of musculoskeletal disorders is called __________.

1) occupational disease 2) acrophobia

3) psychological study 4) ergonomics

62) AnKmV AmH$S>odmar, Amamo½` S>oQ>m, n`m©daUr` n¡by, à{ejU `mdarb àM§S> ‘m{hVr AmVm ghOnUo g§J«{hV Ho$br OmD$
eH$Vo, {díbofU Ho$br OmD$ eH$Vo, àgm[aV Ho$br OmD$ eH$Vo Am{U ì`dñWmnZmbm AMyH$ MIS gmXa H$aÊ`mgmR>r
dmnabr OmD$ eH$Vo, Or OH & S ‘Yrb Jw§VdUyH$sMo n[aUm‘ Xe©dVo. òWo MIS Mm AW© Amho:
1) ~mOmamVrb gh^mJmMr pñWVr 2) ì`dñWmnZ ‘m{hVr àUmbr
3) ì`dñWmnZ gh^mJmMr pñWVr 4) {dnUZ ‘m{hVr àUmbr
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62) The huge amount of information on accident statistics, health data, environmental aspects, trainings

can, now, be easily stored, analysed, transmitted and used for presenting an accurate MIS to

management, which will show the results of investments in OH & S. Here MIS means :

1) Market Involvement Status 2) Management Information System

3) Management Involvement Status 4) Marketing Information System

63) g‘mOmMo ‘yb ŷV EH$H$ ......... Amho.
1) eoOmar 2) JQ> 3) Hw$Qw>§~ 4) g‘wXm`

63) is the basic unit of society.

1) Neighbourhood 2) Group 3) Family 4) Community

64) à{WZm§À`m H$‘VaVo‘wio ¹$m{eAmoaH$moa amoJ ......... ¶m§Zm hmoVmo.
1) 1 Vo 5 df} d`moJQ>mVrb ‘wbo 2) 4 Vo 7 df} d`moJQ>mVrb ‘wbo
3) 6 Vo 8 df} d`moJQ>mVrb ‘wbo 4) 2 Vo 8 df} d`moJQ>mVrb ‘wbo

64) Kwashiorkor disease due to lack of protein occurs in

1) children aged 1 to 5 years 2) children aged 4 to 7 years

3) children aged 6 to 8 years 4) children aged 2 to 8 years

65) gwH$boë`m aº$s (blood meal ) ‘Ü¶o ............ Q> o̧$ Zm`Q´moOZ AgVmo.
1) 10 Vo 12 2) 12 Vo 15 3) 4 Vo 10 4) 13

65) The dried blood meal contains ............. % nitrogen.

1) 10 to 12 2) 12 to 15 3) 4 to 10 4) 13

66) g§dmXmÀ`m {d{dY nÕVtn¡H$s H$moUË`m nÕVr‘Ü ò Aä`mg Xm¡am g‘m{dï> AgVmo ?
1) g‘yh nÕV 2) dñVw‘mZ nÕV
3) d¡̀ {º$H$ nÕV 4) Am^mgr nÕV

66) Amongst the different communication methods, in which method “Study Tour” is included

1) Group method 2) Mass method

3) Individual method 4) Virtual method

67) ............ Mm dmna H$ê$Z ËdMoÀ`m n¥ð>^mJmMr gyú‘ H§$nZo ‘moObr OmVmV.
1) H°$WmoS> ao Am°{gbmoñH$mon 2) B§Q>a’o$amo‘rQ>a
3) nm`Pmo‘rQ>a 4) A°‘rQ>a - ìhmoëQ>‘rQ>a

67) Skin surface micro-vibrations are measured using .............

1) Cathode Ray Oscilloscope 2) Interferometer

3) Piezometer 4) Ammeter-Voltmeter

68) Oyb/goH§$X `mbm ......... Agohr åhUVmV.
1) kWh 2) W 3) Wb/s 4) kWh/s

68) Joules/second is also called as .............

1) kWh 2) W 3) Wb/s 4) kWh/s



VmbwH$m H«$sS>m A{YH$mar MmiUr narjm Z‘wZm àíZnwpñVH$m / 37

For Private Circulation Only

69) Imbrb {dYmZo {dMmamV ¿`m :
‘mnZ §̀ÌmV,
a) g§doXZerbVonojm aoIr`Vm ‘hÎdmMr Amho.
b) Cƒ AMyH$Vm Cƒ AMyH$Vm Xe©dVo.
c) AMyH$Vm R>amdmnojm Mm§Jbr Agy eH$V Zmhr.
`m {dYmZm§n¡H$s -
1) a, b Am{U c ~amo~a AmhoV 2) a Am{U b ~amo~a AmhoV
3) b Am{U c ~amo~a AmhoV 4) a Am{U c ~amo~a AmhoV

69) Consider the following statements :

In a measuring instrument,

a) Linearity is more important than sensitivity.

b) High precision indicates high accuracy.

c) Accuracy can not be better than resolution.

Of these statements -

1) a, b and c are correct 2) a and b are correct

3) b and c are correct 4) a and c are correct

70) Am`moS>rZMm dmna Imbrbn¡H$s H$moUË`m AmnËH$mbrZ {ZOªVwH$sH$aUmgmR>r Ho$bm OmD$ eH$Vmo?
a) nmUr b) {dð>m c) bKdr d) ËdMm
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U d ’$º$ 3) a, c Am{U d ’$º$ 4) a, b Am{U c ’$º$

70) Iodine may be used for emergency disinfection of which of the following ?

a) Water b) Faeces c) Urine d) Skin

Answer Options :

1) a only 2) a and d only 3) a, c and d only 4) a, b and c only

71) ‘°¾o{e`‘ g§~§{YV Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a)  hm hmS>m§Mm KQ>H$ Amho.
b)  H°$pëe`‘ Am{U nmoQ>°{e`‘À`m gm‘mÝ` M`mnM`gmR>r ho Amdûm`H$ Amho
c)  àm¡T>m§gmR>r XaamoO ‘°¾o{e`‘Mr Amdûm`H$Vm 340 {‘J«°/{Xdg AgÊ`mMm A§XmO Amho.
d)  ‘mZdr àm¡T> earamV gw‘mao 50 J«°‘ ‘°¾o{e`‘ AgVo
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$
3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

71) Which of the following statements regarding magnesium is/are true ?

a) It is constituent of bones.

b) It is essential for normal metabolism of calcium and potassium

c) Daily requirement of magnesium is estimated to be 340 mg/day for adult.

d) Human adult body contains about 50 gms of magnesium

Answer Options :

1) a only 2) a and b only

3) a, b and c only 4) a, b, c and d
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72) ~«mopÝH$`b AñW‘mgmR>r H§$Q´moba Woanr åhUyZ Imbrb nÕVr dmnaë`m OmVmV.........
1) ~rQ>m 2 A°SóZ{O©H$ E°Jmo{ZñQ> 2) A±Q>rH$mo{bZ{O©H$
3) BZhoëS> H$m°{Q©>H$mopñQ>am°B©S²g 4) ’$m°ñ’$moS>rñQ>oaog BZ{h{~Q>a

72) Following is used as controller therapy for bronchial asthma

1) Beta 2 adrenergic agonists 2) Anticholinergics

3) Inhaled corticosteroids 4) Phosphodiesterase inhibitor

73) d¡{eï²>`nyU©nUo, hm`naQ>opÝgìh S>moHo$XwIr ........... CX²̂ dVo
1) g§Ü`mH$mir Am{U níMH$amoQ>r ^mJmV 2) gH$mir Am{U Q>|nmoab/H$U©H$amoQ>r ^mJmV
3) gH$mir Am{U níMH$amoQ>r ^mJmV 4) amÌr Am{U ’«§$Q>b/ ^mbH$amoQ>r ^mJmV

73) Characteristically, a "hypertensive headache" occurs in

1) Evening and in occipital region 2) Morning and in termporal region

3) Morning and in occipital region 4) Night and in frontal region

74) ‘°aoWm°Z g§¶moOH$m§Zm YmdUmè`m {H$Vr Á¶oîR> YmdH$m§Zm hm`naQ>oÝeZ Amho ho ‘m{hV AgUo Amdûm`H$ Amho. òWo H$moUË`m
àH$maMm Aä`mg Xe©{dbm Amho?
1) Ho$g H§$Q´mob ñQ>S>r 2) H$m°hmoQ>© ñQ>S>r 3) ’$sëS> Q´m`b 4) H«$m°g goŠeZb ñQ>S>r

74) Marathon Organiser needs to know how many senior runners participating in marathon have

hypertension. What is the type of study represented here ?

1) Case control study 2) Cohort study

3) Field trial 4) Cross sectional study

75) ''Z¡amí` : Mbm ~mobỳ m'' hr ......... dfm©gmR>r OmJ{VH$ Amamo½` {XZmMr Wr‘ hmoVr.
1) 2017 2) 2018 3) 2019 4) 2020

75) "Depression : let's talk" was the theme for World Health Day for the year..........

1) 2017 2) 2018 3) 2019 4) 2020

76) ABC {díbofUmVrb BÝìh|Q>ar H§$Q´mob ‘oH°${ZP‘ ............ da AmYm[aV Amho.
1) Cn^moJmMo ‘yë¶ 2) XwH$mZmVyZ hmbMmb 3) JaO 4) darbn¡H$s H$mhrhr Zmhr

76) The inventory control mechanism in ABC analysis is based on ............

1) Value of consumption 2) Movement from store

3) Necessity 4) None of the above

77) ‘oQ>mg|{Q´H$ C§Mr åhUOo ................ ‘Yrb A§Va Amho.
1) Va§JUmè`m earamMo JwéËdmH$f©U H|$Ð Am{U CN>mb H|$Ð.
2) Va§JË`m earamMo JwéËdmH$f©U H|$Ð Am{U ‘oQ>mg|Q>a.
3) ‘oQ>mg|Q>a Am{U CN>mb H|$Ð.
4) CÎmoOH$VoMo ‘yi H|$Ð Am{U CbmT>mbrMo ZdrZ H|$Ð.

77) The metacentric height is the distance between the ................

1) centre of gravity of the floating body and the centre of buoyancy.

2) centre of gravity of the floating body and the metacentre.

3) metacentre and centre of buoyancy.

4) original centre of buoyancy and new centre of buoyancy.



VmbwH$m H«$sS>m A{YH$mar MmiUr narjm Z‘wZm àíZnwpñVH$m / 39

For Private Circulation Only

78) Imbrb {dYmZmV H$moUVm H$m`Xm {Xbm Amho?
pñWa ÐdnXmWm©Vrb EH$m q~Xyda Xm~ qH$dm Xm~mMr Vrd«Vm gd© {Xem§Zm g‘mZ AgVo.
1) Ý ỳQ>ZMm {Z`‘ 2) nmñH$bMm {Z`‘
3) Amo‘Mm {Z`‘ 4) W‘m}S>m`Zm{‘ŠgMm Xwgam {Z`‘

78) Which law is given in the following statement ?

“The pressure or intensity of pressure a t a point in a static fluid is equal in all directions.”

1) Newton’s law 2) Pascal’s law

3) Ohm’s law 4) Second law of Thermodynamics

79) Imbrbn¡H$s H$moUVr A§Va ‘moOÊ`mMr AàË`j nÕV Zmhr?
1) Q>°H$mo‘oQ´r 2) AmoS>mo‘rQ>a
3) {ÌH$moU{‘Vr` ñVarH$aU 4) {dÚwV Mw§~H$s` A§Va ‘moO‘mn

79) Which of the following is not an indirect method of measuring distances ?

1) Tacheometry 2) Odometer

3) Trigonometric Levelling 4) Electromagnetic Distance Measurement

80) 2023 À`m {H«$Ho$Q> {dídMfH$mV, H$gmoQ>r Z IoiUmam/ao H$moUVm/Vo Xoe nmÌ R>abm/bo Amho/V ?
a) UAE Am{U H°$ZS>m b) USA Am{U hm°§JH$m°§J
c) Ho${Z`m Am{U ñH$m°Q>b§S> d) ZoXab±S²>g
n¶m©¶r CÎmao …
1) ’$º$ (d) ~amo~a Amho 2) ’$º$ (a) Am{U (c) ~amo~a Amho
3) ’$º$ (b) Am{U (c) ~amo~a AmhoV 4) ’$º$ (a) Am{U (b) ~amo~a AmhoV

80) In the 2023, Cricket World Cup, the non-test playing countries which participated included:

a) UAE and Canada b) USA and Hong Kong

c) Kenya and Scotland d) Nederlands

Answer Options :

1) Only (d) is correct 2) Only (a)  and (c) is correct

3) Only (b) and (c) are correct 4) Only (a) and (b) are correct

81) H$gmoQ>r {H«$Ho$Q>‘Ü ò EH$m S>mdmV gdm©{YH$ Ymdm H$aÊ`mMm {dH«$‘ ~«m`Z bmamÀ`m Zmdmda Amho. Ë`mÀ`m AmYrMo, VrZ
aoH$m°S>© YmaH$ ho ............. hmoVo:
1) S>m°Z ~«°S>‘Z, gwZrb JmdñH$a Am{U H$m°{bZ H$mCSó
2) boZ hQ>Z, nrQ>a ‘o Am{U pìhpìh`Z [aMS²g©
3) hZr’$ ‘mohå‘X, Jma{’$ëS> gmo~g© Am{U g{MZ V|Sw>bH$a
4) Jma{’$ëS> gmo~g©, S>rnrE‘S>r O`dY©Zo Am{U ‘°Ï ỳ hoS>Z

81) The record for the highest score in an innings in Test Cricket is being held by Brian Lara.

Immediately prior to him, the three record holders were:

1) Don Bradman, Sunil Gavaskar and Colin Cowdrey

2) Len Hutton, Peter May and Vivian Richards

3) Hanif Mohammed, Garfield Sobers and Sachin Tendulkar

4) Garfield Soberse, DPMD Jayawardane and Mathhew Heydan
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82) `mXr I (bm°Z Q>o{Zg ñnYm©) Am{U `mXr II (H$moQ>©) er Owidm Am{U  `mo½` CÎma {ZdS>m :
`mXr-I (bm°Z Q>o{Zg ñnYm©)      ̀ mXr-II (H$moQ>©)
A) ’«|$M AmonZ 1) AmW©a A°eo ñQ>o{S>`‘
B) B§½b§S> AmonZ 2) amob±S> Jmamog
C) ỳEg AmonZ 3) {då~ëS>Z
D) Am°ñQó{b`Z AmonZ 4) bwB© Am‘©ñQ´m±J ñQ>o{S>`‘

5) am°S> boìha AaoZm
n¶m©¶r CÎmao …

A B C D

1) 5 1 4 2

2) 2 3 1 5

3) 5 3 1 2

4) 2 1 4 5

82) Match List I (Lawn Tennis Tournament) with List II (Court) and select the correct answer :

List-I (Lawn Tennis Tournament) List-II (Court)

A) French Open 1) Arthur Ashe Stadium

B)England Open 2) Rolland Garos

C) US Open 3) Wimbledon

D) Australian open 4) Louis Armstrong Stadium

5)  Rod Laver Arena

Answer options :

A B C D

1) 5 1 4 2

2) 2 3 1 5

3) 5 3 1 2

4) 2 1 4 5

83) 2023 gmbr bm°Z Q>o{Zg S>opìhg H$n ’$m`Zb‘Ü ò H$moUVo Xoe Ioibo?
1) pñdËPbªS> Am{U ẁZm`Q>oS> ñQ>oQ²g Am°’$ A‘o[aH$m. 2) H°$ZS>m Am{U Am°ñQó{b`m
3) Am°ñQó{b`m Am{U AO]{Q>Zm 4) ñdrS>Z Am{U ~opëO`‘.

83) Which countries played in the Lawn Tennis Davis Cup Final in the year 2023?

1) Switzerland and United States of America. 2) Canada and Austarlia

3) Australia and Argentina 4) Sweden and Belgium.

84) Imbrbn¡H$s H$moUË`m Jmob§XmOmZo H$gmoQ>r {H«$Ho$Q>‘Ü ò 600 nojm OmñV ~ir KoVbo AmhoV?
1) eoZ dm°Z© 2) ‘wÏWæ`m ‘wabrYaZ 3) A{Zb Hw§$~io 4) Ooåg A±S>agZ
n¶m©¶r CÎmao …
1) 1 Am{U 2 ’$º$ 2) 3 Am{U 4 ’$º$ 3) 1,2 Am{U 3 ’$º$ 4) 1,2,3 Am{U 4

84) Who among the following bowlers have taken more than 600 wickets in Test Cricket?

1) Shane Warn 2) Mutthya Murlidharan 3) Anil Kumbale 4) James Anderson

Answer options :

1) 1 and 2 only 2) 3 and 4 only 3) 1,2 and 3 only 4) 1,2,3 and 4
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85) C~oa H$n ñnY}~m~V H$moUVr {dYmZo ~amo~a AmhoV?
a) hr Ho$di nwéfm§gmR>r OmJ{VH$ gm§{KH$ ~°S>q‘Q>Z ñnYm© Amho.
b) hr ñnYm© àW‘ 1956-57 ‘Ü ò Am`mo{OV H$aÊ`mV Ambr hmoVr.  gwédmVrg VrZ dfmªVyZ EH$Xm, Va 1984 nmgyZ

hr ñnYm© XmoZ dfm©VyZ EH$Xm Am`mo{OV Ho$br OmVo.
c) MrZZo gdm©{YH$ doim hr ~°S>q‘Q>Z ñnYm© qOH$br Amho.
n¶m©¶r CÎmao …
1) b Am{U c 2) a Am{U b 3) a Am{U c 4) a, b Am{U c

85) Which of the statements are correct regarding Uber Cup Tournament?

a) It is the World Team Badminton Championships for men only.

b) It was first held in 1956–57. It was held once in every three years but since 1984, the Cup is

held bi-annually.

c) China has won the cup for maximum number of times.

Answer options :

1) b and c 2) a and b 3) a and c 4) a, b and c

86) Am°{bpånH$ 2024 ............ òWo hmoUma Amho :
1) bm°g E§Oo{bg 2) Q>mo{H$`mo 3) n°[ag 4) {gS>Zr

86) Olympics 2024 is to be held in :

1) Los Angeles 2) Tokyo 3) Paris 4) Sydney

87) df© 2023 À`m {Vgè`m J«±S>ñb°‘À`m A§{V‘ ’o$arV nmohmoMÊ`mgmR>r, ZmoìhmH$ OmoH$mo{dH$Zo  ........ bm nam ŷV Ho$bo :
1) H$mbm}g AëH$maoP 2) Ho${dZ A±S>agZ
3) ‘°Ý ẁEb g±Q>mZm 4) O°{ZH$ {gZa

87) To reach the final of third grand slam of the year 2023,  Novak Jocovik defeated:

1) Carlos Alcarez 2) Kevin Anderson

3) Manuel Santana 4) Jannik Sinner

88) `mXr-I bm `mXr-II er Owidm Am{U Imbrb H$moS> dmnê$Z `mo½` CÎma {ZdS>m :
`mXr I (Xoe) `mXr II (amḯ>r` Ioi)
A) USA 1) ~og~m°b
B) H°$ZS>m 2) OwS>mo
C) MrZ 3) AmB©g hm°H$s
D) OnmZ 4) Q>o~b Q>o{Zg
n¶m©¶r CÎmao …

A B C D

1) 1 3 4 2

2) 2 4 3 1

3) 4 3 2 1

4) 1 2 3 4
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88) Match List-I with List-II and select the correct answer using the codes given below:
List I (Country) List II (National game)

A) USA 1) Baseball
B) Canda 2) Judo
C) China 3) ICE Hockey
D) Japan 4) Table Tennis
Answer Options :

A B C D

1) 1 3 4 2
2) 2 4 3 1
3) 4 3 2 1
4) 1 2 3 4

89) ^maVmZo ’w$Q>~m°bÀ¶m H$moUË¶m Am§Vaamï´>r` ñnY}V gwdU©nXH$ qOH$bo hmoVo?
1) 1964 ‘S}>H$m H$n, ¹$mbmbånya 2) 1962 OH$mVm© E{e`mS>
3) 1970 ‘S}>H$m H$n, ¹$mbmbånya 4) 1951 {X„r E{e`mS>

89) When did India win a gold medal in football in an international tournament last ?

1) 1964 Merdeka Cup, Kualalumpur 2) 1962 Jakarta Asiad

3) 1970 Merdeka Cup, Kualalumpur 4) 1951 Delhi Asiad

90) `mXr-I bm `mXr-II er Owidm Am{U Imbrb H$moS> dmnê$Z `mo½` CÎma {ZdS>m :
`mXr I (n[a^mfm) `mXr II (Ioi)
A) ~Q>aâbm` 1) ~og~m°b
B) Aßna H$Q> 2) nmohUo
C) S>m`‘§S> 3) Jmoë’$
D) ~§H$a 4) ~m°pŠg§J
n¶m©¶r CÎmao …

A B C D

1) 4 3 2 1

2) 3 4 2 1

3) 2 4 1 3

4) 1 2 3 4

90) Match List-I with List-II and select the correct answer using the codes given below :
List I (Terminology) List II (Game)

A) Butterfly 1) Baseball
B) Upper cut 2) Swimming
C) Diamond 3) Golf
D) Bunker 4) Boxing
Answer Options :

A B C D

1) 4 3 2 1
2) 3 4 2 1
3) 2 4 1 3

4) 1 2 3 4
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(8) ~w{Õ‘Îmm MmMUr
91) g§»¶m Am{U dU©‘m{bH$m, gm§Ho${VH$ ̂ mfm, gmå¶, VwbZm, dJuH$aU
92) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
93) {dYmZo Am{U ̀ w{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
94) ~¡R>H$ d ‘m§S>Ur ì`dñWm, ZmVog§~§Y
95) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
96) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
97) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$, gamgar, g§̂ mì`Vm, Q> o̧$dmar, JwUmoÎma Am{U à‘mU
98) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
99) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
100) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr, KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m

91) g§»¶m Am{U dU©‘m{bH$m, gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
91) Imbrb Aë’$m-Z§~a ‘m{bHo$Vrb àíZ{MÝh (?) bm Vm{H©$H$Ñï²>`m nyU© H$aÊ`mgmR>r H$moUVo Aja-g§»`m ³bñQ>a

~Xbob?
TG61, QJ56, NM52, KP49 ?

1) IR 47 2) HS 52 3) IR 52 4) HS 47
91) Which Letter-number cluster will replace the questions mark (?) in the following alpha-number

series to make it logically complete ?

TG61, QJ56, NM52, KP49 ?

1) IR47 2) HS52 3)IR52 4) HS47

92) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
92) Imbr {Xbobr {dYmZo Am{U {ZîH$f© H$miOrnyd©H$ dmMm. {dYmZm§‘Ü ò {Xbobr ‘m{hVr gË` Amho Ago J¥hrV Yê$Z, Oar

Vr gm‘mÝ`V… kmV VÏ`m§er {^Þ Agë`mMo {XgV Agbo Var, {dYmZm§‘YyZ {Xboë`m {ZîH$fmªn¡H$s H$moUVo {ZîH$f©
Vm{H©$H$Ñï²>`m (Mo) AZwgaU H$aVmV Vo R>adm.
{dYmZo :

‘bm H§$Q>mim Ambm Agob VaM ‘r gmoeb ‘r{S>`m dmnaVmo.
‘mÂ`m {‘ÌmMr g§JV AgVmZm ‘bm H§$Q>mim òV Zmhr.

{ZîH$f© :
I) Oa ‘bm H§$Q>mim Ambm Agob Va ‘r ‘mÂ`m {‘ÌmMr H§$nZr emoYVmo.
II) ‘mPm {‘Ì CnpñWV AgVmZm ‘r gmoeb ‘r{S>`m dmnaV Zmhr.

n¶m©©¶r CÎmao :
1) ’$º$ {ZîH$f© I AZwgaU H$aVmo 2) ’$º$ {ZîH$f© II Imbrbà‘mUo Amho
3) XmoÝhr {ZîH$f© I Am{U II AZwgaU H$aVmV 4) {ZîH$f© I qH$dm II nmiV Zmhr
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92) Read the given statements and conclusions carefully. Assuming that the information given in the

statements is true, even if it appears to be at variance with commonly known facts, decide which

of the given conclusions logically follows (s) from the statements.

Statements :

I use social media only if I am bored.

I am not bored when I have my friend's company.

Conclusions :

I) If I am bored, I seek mu friend's company.

II) I don't use social media when my friend is present.

Answer Options :

1)  Only conclusion I follows 2) Only conclusion II follows

3) Both Conclusion I and II follow 4) Neither conclusion I nor II follow

93) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
93) I, II Am{U III H«$‘m§H$mÀ`m VrZ {ZîH$fmªZ§Va VrZ {dYmZo {Xbr AmhoV. {dYmZo gË` AmhoV Ago J¥hrV Yê$Z, Oar Vo

gm‘mÝ`V… kmV VÏ`m§er {^Þ AmhoV Ago dmQ>V Agbo Var, {dYmZm§‘YyZ Vm{H©$H$Ñï²>`m H$moUVo {ZîH$f© (Mo) AZwgaU
H$aVmV Vo R>adm?
{dYmZo :

1) H$mhr {J`m©amohH$ dZñnVr AmhoV
2) gd© PmS>o PmS>o AmhoV,
3) H$mhr {J`m©amohH$ ‘O~yV AgVmV.

{ZîH$f© :
I) H$mhr pbm§Q> ‘O~yV AgVmV
II) H$mhr PmS>o ‘O~yV AmhoV
III) H$moUVrhr dZñnVr ‘O~yV ZgVo

n¶m©©¶r CÎmao :
1) ’$º$ {ZîH$f© I AZwgaU H$aVmo 2) ’$º$ {ZîH$f© II AZwgaU H$aVmo
3) EH$Va {ZîH$f© II AZwgaU H$aVmo 4) XmoÝhr {ZîH$f© I Am{U II AZwgaU H$aVmo

93) Three statement are given followed by three conclusions numbered I,II and III. Assuming the

statements to be true, even if they seem to be at variance with commonly known facts, decide

which of the conclusions logically follow (s) from the statements ?

Statements :

1) Some climbers are plants

2) All Plants are trees,

3) Some climbers are strong.

Conclusions :

I) Some plants are strong

II) Some trees are strong

III) No plant is strong

Answer Options :

1)  Only conclusion I follows 2) Only conclusion II follows

3) Either conclusion II follows 4) Both conclusion I and II follows
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94) ~¡R>H$ d ‘m§S>Ur ì`dñWm, ZmVog§~§Y
94) P, Q, R, S, T, U, V Am{U W ZmdmMo AmR> {‘Ì EH$m JmobmH$ma Q>o~bm^modVr H|$ÐmH$S>o Vm|S> H$ê$Z ~gbo AmhoV. R hm

S À`m COdrH$S>o {Vgam Amho. V hm Q À`m S>mdrH$S>o {Vgam Amho. T hm Q À`m COdrH$S>o Mm¡Wm Amho. U hm V À`m
S>mdrH$S>o Xwgam Amho. P hm V À`m bJoM COdrH$S>o Amho. Va U À`m S>mdrH$S>o Xwgè`m H«$‘m§H$mda H$moU Amho ?
1) T 2) W 3) S 4) P

94) Eight friends named P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre.

R is to third to the right of S. V is third to the left of Q. T is fourth to the right of Q. U is second

to the left of V. P is to the immediate right of V. Who is sitting second to the left of U?

1) T 2) W 3) S 4) P

95) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
95) Imbrb Mma AmH¥$Ë`m§n¡H$s VrZ {d{eï> àH$mao EH$gma»`m AmhoV Am{U EH$ {^Þ Amho. {df‘ {ZdS>m.

1) D 2) C 3) B 4) A
95) Three of the following four figures are Alike in a certain way and one is different.elect the odd

one.

1) D 2) C 3) B 4) A

96) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
96) 5, 7, 20 ¶m§Zr {d^mÁ¶ Agbobm gdm©V bhmZ nyUmªH$ H$moUVm ?

1) 35 2) 200 3) 280 4) 140
96) What is the smallest integer that is multiple of 5, 7 and 20 ?

1) 35 2) 200 3) 280 4) 140
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97) gaién, Xem§e AnyUmªH$, gamgar, g§̂ mì`Vm, Q>̧ o$dmar, JwUmoÎma Am{U à‘mU
97) Oa 2011 ‘Ü ò A eham‘Ü ò O‘mVrMr bmoH$g§»`m 36 Am{U 2021 ‘Ü ò 64 Agob Va 2016 ‘Ü ò A eham‘Ü ò

O‘mVrMr bmoH$g§»`m A§XmOo Amho :
1) 50 2) 48 3) 46 4) 52

97) If the population of a tribe in town A in 2011 is 36 and 64 in 2021, then estimated the population
of the tribe in town A in 2016 is :
1) 50 2) 48 3) 46 4) 52

98) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
98) "A', "~' Am{U "H$' ¶m VrZ nmB©nZo EH$ nmÊ¶mMr Q>mH$s 20 VmgmV ^aVo. "H$' Mr JVr hr "~' nojm XþßnQ> Amho Am{U

"~' Mr JVr "A' nojm {VßnQ> Amho, Va ’$º$ "A' nmB©nZo Vr nmÊ¶mMr Q>mH$s {H$Vr doimV ^aob ?
1) 200 Vmg 2) 205 Vmg 3) 352 Vmg 4) 400 Vmg

98) A cistern fills in 20 hours by three pipes A, B, C. The pipe C is twice fast as B and B is thrice fast
as A. How much time will pipe A alone take to fill the tank ?
1) 200 hours 2) 205 hours 3) 352 hours 4) 400 hours

99) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
99) Oa a‘oeZo EH$m ~±Ho$V 2,000/- Xagmc 6% XamZo 5 dfm©gmR>r Jw§V{dë¶mg Ë¶mg nmM dfm©Z§Va EHy$U {H$Vr a¸$‘ {‘ioc ?

i) gmÜ¶m ì¶mO XamZo ii) dm{f©H$ MH«$dmT> ì¶mO XamZo
n¶m©¶r CÎmao …
1)  (i) 2,600, (ii) 2,676.45 2) (i) 2,550, (ii) 2,766.54

3) (i) 2,800, (ii) 2,345.30 4) (i) 12,000, (ii) 10,600.00

99) If Raresh invested Rs. 2,000/- in a Bank at 6% p.a. for 5 years. Find out the total amount received
by him after 5 years.
i) At Simple Interest Method. ii) At Compound Interest Method (Yearly).
Answer Options :

1) (i) 2,600, (ii) 2,676.45 2) (i) 2,550, (ii) 2,766.54
3) (i) 2,800, (ii) 2,345.30 4) (i) 12,000, (ii) 10,600.00

100) ŷ{‘Vr - joÌ’$i, KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m
100) OVrZ EH$m CÚmZmV Z¡F$Ë` {Xeobm C^m Amho. Ë`mZ§Va, Vmo 1350 KS>çmimÀ`m {déÕ {XeoZo diVmo, Ë`mZ§Va 900 nwÝhm

Vmo KS>çmimÀ`m {déÕ {XeoZo diVmo. Ë`mZ§Va, Vmo 2250 KS>çmimÀ`m {XeoZo diVmo, Ë`mZ§Va AmUIr 1350 KS>çmimÀ`m
{XeoZo diVmo. ‘J, Vmo eodQ>r 450 KS>çmimÀ`m CbQ> {XeoZo diVmo. Vmo AmVm H$moUË`m {Xeobm Amho?
1) CÎma 2) B©emÝ` 3) Am¾ò 4) X{jU

100) Jatin is standing in a park facing southwest. Then, he turns 135° anticlockwise, followed by a 90°
anticlockwise turn. After that, he turns 225° clockwise, followed by another turn 135°
anticlockwise. Then, he finally turns 45° anticlockwise. Which direction is he facing now?
1) North 2) Northeast 3) Southeast 4) South
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(1) amÁ¶, amḯ>r¶ d Am§Vaamḯ>r¶ ‘hÎdmÀ¶m Mmby KS>m‘moS>r /3

1) OmJ{VH$ amOH$s¶ KQ>Zm
1-3

2) amḯ>r¶ amOH$s¶ KQ>Zm
2-3

3) Am{W©H$ d {dÎmr¶ KQ>Zm
3-3

4) d¡km{ZH$ KQ>Zm
4-4

5) gm‘m{OH$ d e¡j{UH$ KQ>Zm
5-3

6) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm
6-3

7) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
7-1

8) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ
8-1

9) gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm
9-4

10) gm‘mÝ¶kmZ

10-2

… CÎmao …
‘hmamḯ> cmoH$godm Am¶moJ … embo¶ {ejU d H«$sS>m {d^mJmVrb H«$sS>m d ¶wdH$ godm g§MmbZmb¶

VmbwH$m H«$sS>m A{YH$mar MmiUr narjm Z‘wZm àíZnwpñVH$m
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(2) ̂ maVr¶ ñdmV§Í¶ bT>m d AmYw{ZH$ ̂ maVmMm B{Vhmg ‘hmamḯ>mgh/2

11) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
11-2

12) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
12-4

13) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
13-4

14) gm‘m{OH$ Ym{‘©H$ gwYmaUm, {ejU Am{U àog
14-4

15) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
15-3

16) amḯ>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
16-2

17) H«$m§{VH$maH$ g§KQ>Zm d amḯ>dmX
17-4

18) H$m±J«og nj - g§ñWmnH$, A{YdoeZo,  ñdmV§Í¶ Midir- ñdXoer, Agh`moJ,  H$m`Xô §J, ^maV N>moS>mo
18-3

19) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm, H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
19-3

20) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m, g§̀ wº$ ‘hmamḯ> Midi d ñdmV§Í¶moÎma ^maV
20-3
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(3) ̂ maV d ‘hmamḯ> amÁ¶ì¶dñWm

21) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho, àñVmdZm, R>iH$ Am{U ‘yb ŷV d¡{eï²> ò, H$b‘o
21-1

22) ‘yb ŷV h¸$/E’$Ama, S>rnr, E’$S>r, KQ>Zm XþéñË¶m, Am`moJ Am{U ‘§S>io
22-1

23) H|$Ð-amÁ` g§~§Y, Ý`m`nm{bH$m
23-2

24) g§gX, amÁ¶ {dYr‘§S>i, amOH$s¶ nj d {ZdS>UwH$m
24-1

25) H|$Ðr¶ àemgH$s¶ ¶§ÌUm - H$m ©̀H$mar, {d{Y‘§S>i
25-2

26) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
26-2

27) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr, {Oëhm àemgZ
27-4

28) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
28-4

29) ‘m{hVr A{YH$ma H$m¶Xm - CËH$m§Vr, CÔoe, ‘hËdmMr H$b‘o, XþéñË¶m d n[a{eï>o
29-2

30) ‘m{hVr A{YH$ma H$m¶Xm - A§‘b~OmdUr ¶§ÌUm, ‘m{hVr Am¶moJ, Am¶wº$, A{YH$mar, Anrb
30-3
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(4) ̂ maVr¶ AW©ì¶dñWm d {d{dY ~m~rer {ZJS>rV ‘wÔo

31) {Z¶moOZ ¶§ÌUm, ZrVr Am¶moJ, {Oëhm {Z¶moOZ g{‘Vr

31-1

32) amḯ>r` CËnÞ - OrìhrE, OrS>rnr, AW©g§H$ën, gmd©O{ZH$ IM©, {dÎmr` YmoaUo - H$a ‘hgyb
32-4

33) H¥$fr - J«m‘rU {dH$mg Am{U ghH$ma joÌ
33-4

34) CÚmoJ - nm`m ŷV gw{dYm Am{U godm joÌ, {dXoer ì`mnma, ~±qH$J
34-4

35) dmT> Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
35-3

36) {dH$mg H$m ©̀H«$‘ - ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V
36-2

37) amoOJma {Z{‘©Vr H$m ©̀H«$‘, ~oH$mar - H$maUo, ñdén, àH$ma, amoOJma {Z{‘©Vr H$m ©̀H«$‘
37-1

38) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘
38-3

39) {d{dY d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm
39-4

40) {ejU, Amamo½`, gm‘m{OH$ gwajm joÌmVrb dmT> -{d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
40-1
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(5) gm‘mÝ¶ {dkmZ d V§ÌkmZ

41) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
41-4

42) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ
42-2

43) AmdV© gmaUr - YmVy Am{U AYmVy, amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
43-4

44) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ, dm ỳ, IVo
44-2

45) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
45-3

46) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ
46-2

47) dZñnVtMo dJuH$aU Am{U CXmhaUo, H¥$fr{dkmZ d dZemó
47-1

48) Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr
48-2

49) ‘mZdr eara àUmbr - MoVmg§ñWm, aº$m{^gaU, nMZ d CËgO©Z g§ñWm, ñZm¶y d ApñW
49-4

50) Amamo½` Am{U amoJ - amoJàgma d H$maH$ KQ>H$, amoJ{ZXmZ, CnMma Am{U H$m ©̀H«$‘, AÞ Am{U nmofU
50-4
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(6) ‘hmamḯ>, ̂ maV d OJmMm ̂ yJmob ‘hmamḯ>mÀ¶m ̂ mam§emgh

51) gỳ ©‘mbm Am{U n¥Ïdr-Ajm§e Am{U aoIm§e, ŷH§$n Am{U Ádmbm‘wIr, IS>H$
51-1

52) OmJ{VH$ {d^mJ - ^m¡Jmo{bH$ d¡{eï²> ò, hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
52-3

53) OJmMm gm‘m{OH$ ŷJmob - bmoH$g§»`m, ^mfm, d§e, ^m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo
53-2

54) OJmMm Am{W©H$ ŷJmob - I{ZOo , CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZo Am{U n`m©daU, H¥$fr
54-3

55) ^maVmMm ^m¡{VH$ ŷJmob- {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ, ~oQ>o, ZÚm d hdm‘mZ
55-3

56) ^maVmMm gm‘m{OH$ d amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
56-4

57) ^maVmMm Am{W©H$ ŷJmob - H¥$fr, dZo, I{ZOo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
57-2

58) ‘hmamḯ>mMm ^m¡{VH$ ŷJmob - gømÐr, ZÚm Am{U YaUo, IS>H$, ‘mVr, nrHo$, dZo d dZñnVr
58-1

59) ‘hmamḯ>mMm gm‘m{OH$ d amOH$s` ŷJmob - bmoH$g§»`m, ñWbm§Va, {Oëøm§Mr {Z{‘©Vr d gr‘maofm

59-1

60) ‘hmamḯ>mMm Am{W©H$ ŷJmob - H¥$fr, dZñnVr, I{ZOo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
60-2
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(7) H«$sS>m joÌm{df¶H$ ‘m{hVr
61-4 62-2 63-3 64-1 65-1 66-1 67-2 68-2 69-1 70-2
71-2 72-3 73-3 74-2 75-1 76-1 77-2 78-2 79-2 80-1
81-4 82-2 83-2 84-4 85-1 86-3 87-4 88-1 89-2 90-3

(8) ~w{Õ‘Îmm MmMUr

91) g§»¶m Am{U dU©‘m{bH$m, gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
91-4

92) ‘erZ BZnwQ Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
92-2

93) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
93-3

94) ~¡R>H$ d ‘m§S>Ur ì`dñWm, ZmVog§~§Y
94-2

95) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
95-3

96) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
96-4

97) gaién, Xem§e AnyUmªH$, gamgar, g§̂ mì`Vm, Q>̧ o$dmar, JwUmoÎma Am{U à‘mU
97-2

98) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
98-1

99) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
99-1

100) ŷ{‘Vr - joÌ’$i, KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb g‘ñ`m
100-2


